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INEPEIMOBA
INTRODUCTION

Mertoro kypey «lHo3eMHa MOBa Mpo(eciiftHOTO CIpsIMyBaHHS» € (OpPMyBaHHS
HEOOX1IHOI KOMYHIKATHBHOI  CIIPOMOXKHOCTI y cdepax rmnpodeciiiHoro Ta
CUTYaTUBHOTO CIILJIKyBaHHS B YCHiHM 1 MUCHMOBIN (popMax; BAOCKOHAJICHHsS BMiHb Ta
HAaBUYOK YMTAaHHA 1 TepeKiagy, BeleHHs Oecigum 3 mpodeciiiHol TeMaTHukKH,
MUCEMHOTO MOBJICHHS Ta pOOOTH 3 KOMEPIIHHOIO TOKYMEHTAIIEIO.

Jlanuii MeToMYHUN NOCIOHMK MaroTh 32 METYy HAOyTTS CTyJ€HTaMH HaBUYOK
YUTATU Ta MEpeKiIalaTh TEeKCTH 3 MOO0YyTOBOi Ta MpogeciiiHOi TeMaTHUKU CEpeIHBOT
CKJIQJIHOCT1, CIIJIKYBaTUCS 1HO3EMHOIO MOBOIO Ha MOOYTOBI, CYCIUILHO-TIONITUYHI Ta
npodeciiiHi TeMH B MeXaxX BHUBYEHOI JIEKCMKA Ta TpamMaTHKH, MHCATH KOPOTKI
MOBIJJOMJICHHSI Ta €C€ 1HO3EMHOI0 MOBOIO JIOTPUMYIOUMCH IpaBuil opdorpadii ta
rpaMaTHKU.

MetoauuHuii MOCIOHUK CKJIQJA€TbCsl 3 MIICTHAIUSTH PO3IUIIB 3TITHO TEM,
nepeadaueHux poOOYO0 HABUYAJILHOIO TMporpamoro 3 nucuuriiind. Koxen posmin
MICTUTHh BIOPABU HA PO3BUTOK YCiX BUIIB MOBJICHHEBOI [ISJIbHOCTI: ayAi1lOBAHHS,
YUTAHHS, TOBOPIHHS Ta MHCEMHOTO MOBJICHHS, BUKOHAHHS SIKUX CIIPUSIE PO3BUTKY

KOMYHIKaTHBHOI KOMIIETEHIIT CTY/ICHTIB APYTrOro PiBHA BUBYCHHS 1HO3EMHOT MOBH.



METOJUYHI PEKOMEHJAIIIL 3 BUBYEHHS JUCIUILJITHA
«IHOBEMHA MOBA (anr.iiicbka)
MNPO®ECIMHOI'O CITPSAMYBAHHS»

1. Onuc HABYAJIBLHOI AU CHHUILTIHA

XapakTeprucThKa HaBYaJIbHO1
HaiimenyBanHs F.aﬂy% SHADb, HAIpAM JUCHUTUTIHA
MMOKa3HUKIB [IATOTOBIM, OCBITHBO neHHa popma 3ao4Ha hopma
kBauTi(pikaIiiHUil piBeHb HABYAES HABYAHHS
KinbkicTh KpeauTiB I'any3b 3HaHB: JlucuururiHa BUTBHOTO BUOOPY
ECTS -3 0305 «ExoHOMIKa Ta CTyJE€HTA
M AIPUEMHHUIITBO) Pix miaroTtoBku:
1-it | 1-it
Monynis - 2 Hanpsim miaroroBku Cemecrp:
3MICTOBUX MOAYJIB - 4 6.030503 2-i | 2-11
«MixHapoaHa JIexii:
CKOHOMIKay - 2 rog.
InuBinyaapHe [TpakTu4H1, CEMIHAPCHKI:
HAayKOBO-I0CJIiTHE 60 ro. | 6 TojI.
3aBIaHHA - CTyMiHb: OaKajgaBp JlaGopaTopHi:
3aranpHa KUIBKICTb - ‘ -
roaud - 90 CamocrTiitna pobora:
TwXHEBUX TOAMH IS 30 ron. | 82 ron.
JICHHO1 dbopmu InuBinyanbHI 3aHATTS:
HaBYAHHS: - \ -
ayJIMTOpHUX — 4
CaMOCTIHHOI ~ poOOoTH Bun koHTpOITIO: 311K
CTyJ€HTa — 2

2. MeTa Ta 3aBJaHHA HABYAJLHOI JMCIMILIIHHA
Meta - dopmyBaHHS HEOOX1JHOI KOMYHIKATUBHOI CIIPOMOKHOCTI y cdepax
npodeciiHOro Ta CHUTYaTUBHOTO CIIUJIKYBaHHS B YCHIA 1 NHUCBMOBIH (opmax;
BJIOCKOHAJICHHS BMIHb Ta HABUYOK YHWTAHHSA 1 MepeKiaxy, BeACHHS Oeciam 3
npodeciiiHoi TeMaTWKH, TUCEMHOTO MOBJIGHHS Ta pPOOOTH 3 KOMEPIHOO
JOKYMEHTAIII€TO.

3HAHHA | PO3YMIHHA

JIEKCUKH, TpaMaTuku, (hOHETUKH 1 opdorpadii iHO3eMHOT MOBH;
IpaBUJI YCHOTO AUIOBOTO CIIJIKYBaHHS,

OCHOBHHMX BHMOT JI0 KyJIbTYPU MOBJICHHSI.



3aCMOCY8AHHA 3HAHb | PO3YMIHb!

BMITH KOHCTpyIOBaTH Taparpadu JUisl opradizaiii JIyMOK B  €IUHY
IHTEJEKTYalIbHY CTPYKTYPY;

YUTaTH Ta TMepeKiagaMu TeKCT 3 MoO0yToBOi Ta mpodeciiHOi TeMaTUKH
CEpeIHbOI CKIIaTHOCTI;

CIIJIKYBaTUCA 1HO3EMHOI0O MOBOIO Ha TI00YTOBi, CYCHUJIBHO-TOJITAYHI Ta
npodeciitHi TeMu B MeXaX BUBUCHOI JICKCHKH Ta TPAMaTHKH;

nucaTH KOPOTKI TOBIAOMJICHHS Ta €Ce€ 1HO3EMHOI0 MOBOIO JIOTPUMYIOYHCH
npasui opdorpadii Ta rpaMaTUKH;

CKJIaJIaT! JIIJIOBI JJOKYMEHTH Ha 3aJjaHy TeMy, JOTPUMYIOUHCh MIKHAPOJIHUX
CTaHAapTIB;

0JIep>KyBaTH HOBITHIO (haxoBy 1IH(QOpPMALIIIO Yepe3 HOBITHI JKEPEa.

IPaMOTHO CIUJIKYBAaTHCS B MEXaX yCHOTO MOBJICHHS;

BECTH MPE3EHTAallli 3T1HO BUMOT J1JI0BOTO MOBJICHHS.

Gdopmysanns cyodicennb:

3IaTHICTh MPAKTUYHOTO BOJIOAIHHS 1HO3EMHOIO MOBOIO B PI3HUX BHJAX
MOBJICHHEBOT JISUIBHOCTI B 00CS31 TEMATUKH, 3yMOBJICHOI npodeciitHUMH oTpedamu;
oJiep>KyBaHHS HOBITHBOI (haxoBoi iH(opMaIlii yepe3 1H03eMHI JHKepera;

KOPUCTYBaHHS YCHUM MOHOJIOTIYHHUM Ta JiaJIOTIYHAM MOBJICHHSIM y MeXax
MoOyTOBO1, CYCHUIBHO-TIOJITUYHO1, 3araJlLHOEKOHOMIYHOI Ta JaXxOBO1 TEMATHKH;

nepekyaag 3 1HO3€MHOI MOBM Ha pPIIHY TEKCTIB 3araJlLHOEKOHOMIYHOTO
XapaKkTepy;

dbopMyBaHHS OCHOBHUX BMIHb BHUKOPHCTaHHS 3HAHb Ha MPAKTUI TiJ Yac
BEJICHHS JUJI0OBO1 Oeciiu ab0 CHOUIKyBaHHS MO TeleoHy B AUIOBUX IIAX 3
ypaxyBaHHSAM KOHKPETHHX YMOB;

03HAMOMIJICHHS 3 HAWOUIBII BIJIOMHUMH 3pa3KaMH MOBJICHHEBOI ITOBEIIHKU ITiJ
qac MpOBEJICHHS JIOBUX 300piB, Mpe3eHTAIllll Ta MepEeroBOpiB;

HAaBYaHHS TIJATOTOBIIl JO YYacTi y HAyKOBUX KOH(EpPEHIsX, CeMiHapax,
nebaTax, TOLLO;

03HAaHOMJICHHS 3 0COOIMBOCTSIMHU O(DOPMIICHHS HAO1IBII B)KMBAHUX TAIEPIiB.

3. Ilporpama HaBYAJILHOI AUCHUILIIHU

3micToBuii MoayJib 1. OCHOBM €KOHOMIYHOI IYMKH

Tema 1. IIoHATTS eKOHOMIKH

[Ilo BuBuYae exoHoMmika. IcTopis ekoHOMIYHOI nymMkH. EkoHOMeTpuKa. 3aKoH
noruty. Yacu rpymnu Perfect Continuous.

Tema 2. Tunu ekoHOMiKH

Tpanuiitna ekoHomika. PunkoBa ekonomika. CrutanoBaHa ekoHOMIKa. Mirrana
€KOHOMiKa. Y MOBH1 peUEHHSI.

3micToBuil MOayJib 2. PUHKOBA AiSVIBHICTH
Tema 3. Punok npamui



Bubip cnoxxkuBaua. CTpykTypa Ta KOHKYPEHTHICTh PUHKY. MoHomnodii. PuHok
mparil. ¥Y3roKeHHs 4aciB.

Tema 4. BupoOHUIITBO

®daxTopu Ta NpUHUMIK BUpoOHULITBA. Po3nozin npaui. Henpsima MoBa.

3microBuii MmoayJib 3. EKoHOMIYHA TISJILHICTD

Tema S. Kot

I'pomri. banku. ®ickanpHa momiTHka. ['pomoBa momituka. BamoThHi KypcH i
rpomoBi punku. Ekonomiunuii mok. [adusamnis. bespobitra. [HiniTHB.

Tema 6. EkoHOMIYHMI PO3BUTOK

Exonomiune 3pocranHs. bi3Hec-nmkin. Bigkputa exoHomika. MexaHi3Mu
0oOMIHHOTO Kypcy. [H(piHITUBHI KOHCTPYKIIIi.

3micToBuii Moay./ib 4. MiskKHAPOIHA €eKOHOMIKA

Tema 7. CBiTOBa eKOHOMIKa

['mobanbHa  exoHomika. ['nmoGambHa  TOpriBias. Hepo3BuHEHI  KpaiHw.
JienpUKMETHUK.

Tema 8. CTaH yKpaiHCbKOI €KOHOMIKH

[Tiziiomu 1 ciaay pUHKOBOI €KOHOMIKH. 30BHIIITHS TOPriBis YKpainu. ['epyHmiii.

4. CTpyKTypa HABYAJBHOI AW CHUAILIIHA

Haszsu Kinekicts rogua

3MICTOBUX nenna gopma 3ao0uHa opma
MOJIYJIIB 1 TEM | YCbO y TOMY YHCITi YChO y TOMY YHCITi

ro 1 n | gab | iHg | c.p. ro 1 n | mald | iHO | c.p.
1 2 3 |4 5 6 |7 8 9 10 | 11 | 12 | 13

3micToBuii Moay.Jb 1. OCHOBM €KOHOMIYHOI IYMKH

Tema 1.
IMonsarts 10 (- |8 - - 2 10 - - - - 10
€KOHOMIKH
Tema 2.
Tunn 12 - |8 - - 4 12 1 1 - - 10
€KOHOMIKH
Pazom 3a
3MICTOBUM 22 - 116 | - - 6 22 1 1 - - 20
MoxayJem |

3micToBuit MOaYJIb 2. PUHKOBA AiSVIBTHICTH
fewad. gy 16 |- |- e 12 |- |1 |- |- |1
PuHok nipam
Tena 4. 11 |- |8 [- |- |3 |11 |- |1 |- |- |10
BupoOHUIITBO
Pazom 3a
3MICTOBUM 23 - |14 |- - 9 23 - 2 - - 21
MoAyJIeM 2




3microBuii MoayJib 3. EKOoHOMIYHA TiSJILHICTD

Tewa 5. 13 |- |8 |- |- |5 |13 |- |1 |- 12
Komru
Tema 6.
Exonomiuamit | 10 |- | 8 - - |2 10 - 1 |- 9
PO3BUTOK
Pazom 3a
3MICTOBUM 23 |- |16 |- - 7 23 - 2 |- 21
MOJTyJIEM 3
3micToBuii Moay.Jb 4. MizkHaApOHA eKOHOMIKA
Tema 7.
CsiToBa 1 |- |8 - - |3 11 1 - - 10
€KOHOMIKa
Tewma 8.
Cram g1 -6 |- |- |5 |11 |- |1 |- 10
YKpaiHCHKOT
€KOHOMIKHU
Pazom 3a
3MICTOBUM 22 |- |14 |- - |8 22 1 1 |- 20
Moaysem 4
Bevoro 3ty | lgo |- |- |30 90 |2 |6 |- 82
Kypc¢
5. TeMH NpPaKTUYHUX 3aAHATH
KinapkicTh
Ne TOJVH
Ha3zpa Temu
3/m JIEHHA | 3a04Ha
dopma | popma
1 | o BuBuae exonomika. Present Perfect Continuous. 2
2 | Ictopis exonomiuHoi aymku. Past Perfect Continuous. 2
3 | Exonomerpuka. Future Perfect Continuous. 2
4 | 3aKkoH MONUTY. 2
5 | Tpagumiitna ekoHomika. YMOBHI pedeHHs | tuy. 2 0,5
6 | PunkoBa ekoHoMmika. YMoOBHI pedeHHs I turmy. 2 0,5
7 | CnnanoBaHa ekoHoMiKa. YMoBHI peuenHs 1 tumy. 2
8 | Mimana ekoHOMIKa. YMOBHI peYEHHSI MIIIAHOTO THUITY. 2
9 | Bubip cnoxuBaya. Y3roJkeHHs 4aciB. 2
10 | CtpykTypa Ta KOHKYPEHTHICTh pUHKY. MoHOMOII]. 2 0,5
11 | Punok mparii. Y3rokeHHs 4aciB. 2 0,5
12 | ®dakropu Ta npuHIMIY BUpoOHHIITBA. Henpsima MoBa. 4 1
13 | Po3nogin mpai. Hempsima moBa. 4
14 | T'pomi. banku. InginiTus. 2




15 | I'pomioBa nosituka. BamoTHI KypcH 1 IpOIIOB1 PUHKH. 2 0,5
16 | dickanbHa nojiTuka. [HhIHITUB. 2
17 | Exonomiunuit mok. [admsmis. be3poOitts. [HdiniTHB. 2 0,5
18 | Exonomiune  3poctanHHs.  OO’ekTHa  1H(IHITHBHA 2
KOHCTPYKIIISL.
19 | Biznec-mmki. Cy6’ekTHa iHQIHITHBHA KOHCTPYKIIISL. 2 0,5
20 | Bigkputa ekoHoMika. IlpuiiMeHHuKOBa 1H(IHITHBHA 2 0,5
KOHCTPYKITiS.
21 | MexaH13Mu 0OMIHHOTO KypCy. 2
22 | I'nobanbHa ekoHOMIKA. J{1EMPUKMETHHK. 4
23 | I'nobanbHa TopriBma. OO0’€KTHa  JIIEMPUKMETHHUKOBA 2
KOHCTPYKIIISI.
24 | Hepo3BuHeHi KpaiHu. AOCONIOTHA [i€MPUKMETHUKOBA 2
KOHCTPYKIIISI.
25 | Iligiiomu 1 criai pUHKOBO1 €KOHOMIKHU. I'epyH/Tii. 2 0,5
26 | 3oBHIIHS TOPriBiasg YKpainu. ['epyHianbH1 KOHCTPYKITI. 4 0,5
Pazom 60 6
6. Camocriiina po6ora
KinbkicTh
No TOJVH
Hasga temn
3/ IEHHA | 3a0YHa
dopma | dopma
1 | o BuBuae exonomika. Present Perfect Continuous. 2 3
2 | Icropis exonomiunoi mymku. Past Perfect Continuous. - 3
3 | Exonomerpuka. Future Perfect Continuous. - 4
4 | TpanuiiiiHa eKOHOMIKA. Y MOBHI peueHHs | Tumy. 1 2
5 | PunkoBa ekoHoMika. YMoBHI peueHHs Il tumy. 1 3
6 | CnianoBaHa ekoHOMiKa. YMoBHI peuenHs I1I tumy. 1 2
7 | Mimana ekoHOMiKa. YMOBHI PEUEHHS MIMIAHOTO TUTTY. 1 3
8 | Bubip cnoxkuBaya. ¥Y3rosKeHHS 4aciB. 2 4
9 | CtpykTypa Ta KOHKYPEHTHICTh pUHKY. MoOHOMOII]. 2 4
10 | PuHok mparti. Y3rokeHHs 4aciB. 2 3
11 | ®dakTopu Ta npuHIMNK BUpoOHUITBA. Henpsima MoBa. 2 3)
12 | Posnonin npami. Henmpsima moBa. 1 3)
13 | I'pomni. banku. [adiniTHB. 3 4
14 | ®ickanpHa nomituka. [HIHITHB. - 4
15 | Exonomiunwmii mok. [Hdumsis. be3poo6itrs. [ndiniTHB. 2 4
16 | Exonomiune  3poctanHsa. OO0’ekTtHa  1H(IHITHBHA 1 3
KOHCTPYKIIiS.
17 | biznec-umkia. Cy6’ekTHa iH(IHITUBHA KOHCTPYKITiS. 1 3
18 | Binkputa exoHowmika. IlpuiiMenHuKoBa 1H(IHITUBHA - 3




KOHCTPYKIIiS.
19 | I'moGanpHa ekoHOMIKA. [{1€EMPUKMETHHUK. 1 4
20 | I'mobGanpHa TopriBims. OO’€KTHAa JIENPUKMETHUKOBA 1 3
KOHCTPYKIIIS.
21 | Hepo3Buneni kpaiHu. AOCONIOTHA [I€EMPUKMETHHKOBA 1 3
KOHCTPYKIIIS.
22 | Tligiiomu i criagy pUHKOBOT €KOHOMIKH. [ epyHIii. 3 5
23 | 30BHILIHA TOPTiBIIS VYkpainu. I'epyHnianbHi 2 5
KOHCTPYKIIIi.
Pa3om 30 82

1. MeTO)II/I HaBYaHHHA

OcHosHi popmu HaguanvHo2o npoyecy npu usuyenHi oucyuniinu «Inozemna
(aneniticoka) mosa npogheciiinoco cnpamysantst Il pisenvy.:

HaBYaJbHI 3aHATTSA, CAMOCTIHHA poOOTa CTYIEHTIB, poOOTa B HAyKOBIH
o616moteni JlonHYET, po6ota B IHTepHETI, KOHTPOJIbHI 3aX0/IH.

Buou nasuanvnoi pobomu cmyoenmia:

PaKTUYHI 3aHATTS, KOHCYIbTAIllsl, TUCTAHI[IHHE HaBYaHHS, 31K

Y npoueci eueuennsa oOucuunninu «IlHo3emHa MoBa mpodeciiftHOTO
cupsimyBaHHs Il piBeHb» 3acmocosyromscsa HacmynHi Memoou HAGYAHHA:

3a TUIIOM Mi3HABaIbHOI JISILHOCTI:

PENPOAYKTUBHUM, MNPOOJIEMHOTO BHUKIAQAY, AaHATITUYHUN, 1HAYKTUBHUH,
NENYKTUBHUM.

3a OCHOBHUMH €TanaMu IpPOoLecy:

dbopmyBaHHsS 3HaHb, (OPMYBaHHS YMiHb 1 HABUYOK, 3aCTOCYBaHHS 3HaHb,
y3arajibHEHHS, 3aKpIIJICHHSI, IEPEBIPKA;

3a CUCTEMHHM MiAXOIOM:

CTUMYJTFOBAHHS Ta MOTHBAIlisI, KOHTPOJIb Ta CAMOKOHTPOJIb;

3a jpKepesiaMy 3HAHb:

CJIOBECHI — PO3IOBI/Ib, TOSCHEHHS, JICKIIISA; HA0YHI — JICMOHCTpAIIis, 1JTI0CTpAIis.

3a piBHEM CaMOCTIMHOI PO3YMOBOI JTisSTILHOCTI:

MpoOJEMHUMN, YaCTKOBO-TIONIYKOBHM, JOCTITHUIBKHN, METOJ MPOOJIEMHOTO
BUKJIQ/IaHHS.

8. MeToa1 KOHTPOJIIO
OuiHIOBaHHS $IKOCTI 3HaHb CTYJEHTIB B yMOBaxX OpraHizaiii HaBYaJlbHOTO
IPOLIECY 32 MOJYJIbHO-PEUTHUHIOBOIO CUCTEMOIO 3IMCHIOETHCS IIIXOM MOTOYHOTO,
MOJYJBHOTO, MIJCYMKOBOTO (CEMECTPOBOro) KOHTpoito 3a 100-0anbHOIO IIKAIO0
ollHIOBaHH4, 3a mKajor ECTS Ta HallloOHAJIBHOO IIKAJI00 OIIHFOBAHHS.
8.1. Ilomounuii xoumpons
[loTouHMI KOHTPOJL — 1€ OLIHIOBAaHHA HAaBYaJbHUX [OCSITHEHb CTYACHTa
(piBeHb TEOPETUYHUX 3HAHBb TA MPAKTHYHI HABUYKH 3 TEM, BKIIFOUCHHX JI0 3MICTOBUX
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MOJYIIB) IJ dYac MPOBEACHHS ayJUTOPHUX 3aHATh, JUCTAHIIIMHOTO HAaBYaHHS,
opraHizailii caMOCTIHHOI poOOTH, Ha KOHCYJbTaIisAx (I Yac BIAMpaIlOBaHHS
IOPOIYIICHUX 3aHATh YW 3a Oa)KaHHS ITiJBHINUTH IOTICPEIHE OIIIHIOBAHHS) Ta
AKTUBHOCTI CTYJIEHTA Ha 3aHATTI.

[ToToyHu# KOHTPOJb peami3yeTbes y (HOpMI OMUTYBaHHS, KOHTPOJIBHUX POOIT,
BUCTYIIB, CKCIPEC-KOHTPOJO, KOHTPOJIK 3aCBOEHHS HABYaJIbHOTO Marepiany,
3aIJIaHOBAHOTO HA CAaMOCTIMHE OIpaIfOBaHHS CTYIEHTOM TOIIIO.

8.2. Iliocymkosuti KoHmpob

[TimcymMKoBwHiA — 3aJTiK

9. Po3noaiu 0aJiB, siki OTPUMYIOTH CTY/I€HTH

3aJIiK
[ToTouHe TEeCTyBaHHS Ta caMOCTiliHa poboTa CymMma
3MicTOBHIT 3MicTOBHI v 3MicTOBHIT 3MicTOBHI o
MOTyJIb 1 MOJTYJIb2 p= MOJIYJIb 3 MOIyJIb 4 >
TL | T2 | T3 | T4 | — TS | T6 | T7 | T8 |~ 100
10 10 10 10 10 10 10 10 10 10
T1, T2 ... T8 — TeMu 3MICTOBUX MOJTYJIIB.
[MIxana oninoBanuga: HanioHaabHa Ta ECTS
Cyma 6anis 3a Bi B (él(l:lfli_léa O11iHKa 3a HALIOHAJIBHOIO IIKAJIOK0
HaBYAJILHOI JISUIEHOCTI JUISL €K3aMEHY, 3Ky
90-100 A BIIMIHHO
80-89 B
65-79 C nobpe
55-64 D
50-54 E 3aI0BLILHO
35-49 EX HE3aJ0BIILHO 3 MOXKJIMBICTIO TIOBTOPHOTO
CKJIaJaHHs
0-34 = HE3aJI0BLIIBHO 3 06OB’513KOBI/IM. MOBTOPHUM
BUBYEHHSIM JIUCIUIUIIHU

10. MeToanuHe 3a0e3Mme4YeHHA

I. Ocraneuko C. A. JlinoBa aHrmichbka MoBa: HaB4YalbHO-METOIUYHHIT
nocioauk / B. B. Makaposa, C. A. Ocranenko. — Kpusuii Pir : [JIA, 2009. — 136 c.

2. Ocranenko C. A. Business English. HapuanpHUMII MOCIOHMK JIJIS CTYACHTIB
eKOHOMIYHUX crenianbHocTell / Cpitnana AnaromiiBHa Ocrtanenko. — Kpuswuii Pir :
JlouHVYET, 2015. — 246 c.
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3. Ocranenko C. A. English for Specific Purposes (Economics). 306ipHuk
3aBlaHb J0 TPAaKTHYHUX 3aHATH 3 AUCHHMIUIIHU «lHO3emHa (aHrmilfickka) MoBa
npodeciiiHoro cnpsmyBanHs Il piBeHB» Ui CTYIEHTIB HANpPsAMIB IMiJATOTOBKH
6.030503 «MixnHapoaHa ekoHomika», 6.030504 «ExoHOMIKa MiANpPUEMCTBa» /
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3ABJIAHHA 10 IIPAKTUYHUX 3AHSTD
TA CAMOCTIMHOI POGOTHU CTYJIEHTIB

UNIT 1
Before you read
Discuss the following with your partner.

e Do you know much about economics?

e Tick which of these statements you think are true. Then explain to your partner

why.

1 Economics is only the study of money.
2 Economics is something governments take care of.

3 An economist basically decides how money is spent.

A Vocabulary
Match the words with the definitions
1 trade-off A the people who control a country and make laws

2 unemployment B information

3 budget C company that sells goods or services
4 business D easiness
5 convenience E the amount of money you have for something
6 data F how much people want something
7 demand G the number of people without work
8 government H something such as money, workers or minerals belonging
9 inflation to an organisation, country, etc which can be used to
10 resources function properly
| rising prices

J giving away something in exchange for something
Reading 1

What does economics study?
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What do you think of when you hear the word economics? Money, certainly,
and perhaps more complicated things like business, inflation and unemployment. The
science of economies studies all of these, but many more things as well. Perhaps you
think that economics is all about the decisions that governments and business
managers take. In fact, economists study the decisions that we all take every day

Very simply, economics studies the way people deal with a fact of life:
resources are limited, but our demand for them certainly is not. Resources may be
material things such as food, housing and heating. There are some resources, though,
that we cannot touch. Time, space and convenience, for example, are also resources.
Think of a day. There are only 24 hours in one, and we have to choose the best way
to spend them. Our everyday lives are full of decisions like these. Every decision we
make is a trade-off. If you spend more time working, you make more money.
However, you will have less time to relax. Economists study the trade-offs people
make. They study the reasons for their decisions. They look at the effects those
decisions have on our lives and our society.

What are microeconomics and macroeconomics?

Economists talk about microeconomics and macroeconomics. Microeconomics
deals with people, like you and me, and private businesses. It looks at the economic
decisions people make every day. It examines how families manage their household
budgets. Microeconomics also deals with companies — small or large — and how they
run their business. Macroeconomics, on the other hand, looks at the economy of a
country — and of the whole world. Any economist will tell you, though, that
microeconomics and macroeconomics are closely related. All of our daily
microeconomic decisions have an effect on the wider world around us.

Another way to look at the science of economics is to ask, ‘what’s it good for?’
Economists don’t all agree on the answer to this question. Some practise positive
economics. They study economic data and try to explain the behaviour of the

economy. They also try to guess economic changes before they happen. Others
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practise normative economies. They suggest how to improve the economy. Positive
economists say, ‘this is how it is’. Normative economists say, ‘we should ...

So what do economists do? Mainly, they do three things: collect data, create
economic models and formulate theories. Data collection can include facts and
figures about almost anything, from birth rates to coffee production. Economic
models show relationships between these different data. For example, the relationship
between the money people earn and unemployment. From this information,
economists try to make theories which explain why the economy works the way it
does.

B Comprehension

Now read the text again and match each paragraph with the correct heading.

PARAGRAPH1 A How economists work
PARAGRAPH2 B Making deals every day
PARAGRAPH3 C Various ideas about economics
PARAGRAPH4 D Two areas of economics
PARAGRAPHS5 E Two types of economist

Before you listen
Discuss these questions with your partner.
e [f you live in a modern economy, life is quite easy.
e Before the Industrial Revolution, life was much harder.

¢ In what ways was life more difficult?

C Listening

Listen to someone talking about life before the Industrial Revolution. Which of
these things are mentioned?

1 length of life 3 illnesses 5 food

2 housing 4 work 6 having children
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Now listen again and match the descriptions with the numbers.

1 life expectancy A about 250
2 number of children who died before they reached five yearsold B 1in 10

3 number of women who died when they were giving birth C25

4 years since the Industrial Revolution D1in3

Before you read
Discuss these questions with your partner.
e Do you have any idea where the word economics comes from?
e Do you know the names of any famous economists from the past or anything

about their ideas?

D Vocabulary

Complete each sentence with a word or phrase from the box.

Abundance concept consumer firm Industrial Revolution
population precious metals production process profit raw materials

satisfaction  scarcity

1. The began in the late 18" century when machines started to replace
human workers.

. Sand and limestone are the needed to make glass.

. The to make a car involves many people and machines.

. The extra money a company makes is called

is when there is very little of something.

Is when there is lots of something.

. Gold and silver are examples of

2
3
4
5. People want from the products they buy.
6
7
8
9

. Another word for idea is

10. The Is the number of people a country has.

11. A business or company is sometimes called a

12. When we buy things or use services we are a
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Reading 2
History of economic thought

Economic thought goes back thousands of years. The ancient Greek, Xenophon
used the word oikonomikos (from oikos, meaning family, household, estate, and
nomos, for esage, law). He was talking about skilful or clever ways to manage land
and households. We could call main of Aristotle’s political writings economic,
although he did not use the word. The English word economics first appeared in the
19™ century — two and a half thousand years after Xenophon.

Early economic thought was all about the meaning of wealth or being rich.
These early thinkers asked, ‘what makes a state or a country wealthy’:” For nearly
2,000 years, the answer was very simple — gold. A country or nation’s wealth
depended on its owning precious metals. This simple view of the economy remained
until medieval times.

During medieval times — roughly the period between 1100 and 1500 AD, trading
between nations grew, and a new social class appeared. These were merchants,
people who made their money through the buying and selling of goods, and they
began to write their own thoughts on the economy. They saw the economy as a way
to make the state strong. For them, the nation’s wealth depended on stocks of gold
and the size of the population. More people meant bigger armies and a stronger state.

These were still simple ideas. However, daily experience had also taught people
many basic economic concepts. For example, they understood the importance of trade
with other states. They realised that scarcity makes things more expensive and
abundance makes them cheaper.

Modern economics was really born in the 19" century. At this time, thinkers like
Adam Smith wrote down ideas that are still important today. Adam Smith is often
called the Father of Modern Economics, although the science was called political
economy then. Smith realised that a nation’s wealth depended on its ability to

produce goods. The value of these goods depended on the cost of production. The
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cost of production depended on the cost of workers, raw materials and land. This was
really the first example of macroeconomics.

Smith and other classical economists were writing at a time of great change. The
industrial revolution had begun. Paper money began to replace precious metals. The
middle classes were growing stronger. Economists’ theories echoed these changes.
They wrote about the division of labour (each worker taking their part in the
production process). They discussed the problems of population growth. They
influenced thinking about social classes.

For classical economists, the value of goods depends on the cost of production.
However, the price of goods is not always the same as their real cost. Later
economists developed new theories to explain this weakness in classical economics.
These are known as the neoclassical economists and they were writing at the end of
the 19" and early 20™ centuries.

In neoclassical economics, supply and demand make the economy work. In
other words, the price of goods depends on how much people want them and how
easily they can be found. Consumers want satisfaction from their resources (time and
money). Firms want profit. In neoclassical economics, this is the basic relationship in

the economy. These ideas are still the basis of economic thinking today.

E Comprehension
Now read the text again and decide whether these statements are true or false.

1. Aristotle did not use the word economics, but he did write about economic ideas.

2. Early economists thought that a nation without gold was poor.

3. People in medieval times didn’t understand anything about economics.

4. In classical economics, the value of something was measured ingold.
5. Economists later found a problem with the classical model.

6. In neoclassical economics, supply and demand control price.
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Before you listen
Look at this fact file about Adam Smith. Can you fill in any of the information?
Born in Scotland in (1)

Lost his father at the age of (2)

Kidnapped at the age of (3)

Went to University of Glasgow at the age of (4)
Went to Oxford University at the age of (5)
Most famous book is The Wealth of (6)
Influenced Karl Marx and the founding fathers of (7)

F Listening

Now listen and complete the information about Adam Smith’s life.

G Speaking
Discuss these questions with your partner.

e What use is the study of economics?

e What trade-offs do you make every day?

e How do the decisions we make affect the rest of the world?
Task
Give a two-minute talk on the history of economic thought.
First, read text 2 again and make notes below on the following.

- early economic thinking - the classical economists - neoclassical economics

H Writing
In this unit you learnt about Adam Smith, a famous ‘thinker’ from Scotland. Who are
the most famous and influential ‘thinkers’ from your country?

Write a magazine article about one famous thinker from Ukrainian history.

PARAGRAPH 1
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Who is this thinker and what are they best known for?

PARAGRAPH 2

Biographical information: when and where born/ family life/ important points in life
PARAGRAPH 3

What was his/ her message? What were his her influential thoughts?

PARAGRAPH 4

Why do you think this person is important?

Write 100-150 words
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UNIT 2
Before you read
Discuss the following with your partner.
e Econometrics is a term that economists use.

e Look at the word: econo + metrics. What do you think it means?

A Vocabulary

Choose the correct word.

. Prices usually increase / save from one year to the next.

. People work in order to measure / earn money.

. My grandmother’s only income / salary is her pension.

. Einstein is famous for his of theory / analysis of relativity.

. The police search for evidence / variables to help them find the criminal.
. If you increase / combine blue with red you get purple.

. Government statistics / evidence show that crime is rising

. People save / increase their money in bank accounts.

© 00 N o o B~ W N P

. You can use a ruler to measure / earn the size of things.
10. A person’s income / salary is the money they earn each month from work.
11. His theory / analysis of the problem is very good.
12. In experiments, scientists try to find out what makes a variable / evidence
change.
13. An expert in a subject who works and teaches at a university is known as an
individual / academic.
Reading 1
Econometrics

Economists like to make theories. They theorise about why inflation happens,

for example, or what causes unemployment. But theories are not useful if you cannot

test them. This is true for all sciences, and the same for economics.
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To test theory, you first need to gather what scientists call empirical evidence.
That’s evidence that can be measured, like money spent or babies born. When you
have collected the evidence, you’re ready to do the maths and statistics to test your
theory. Economists call their maths econometrics.

Let’s take an example. Imagine that you want to find out why some people save
more money than others. You may think that ibis depends on two things: how much
money they earn (their income) and how happy they generally are about saving
money. We can express your theory as an econometric formula: amount someone
saves = their income x their happiness to save.

Of course, we can’t measure happiness to save exactly, but with econometric
mathematics we can give it a value. Then we can see how that value differs between
groups of people or cultures. Econometrics is about finding relationships between
variables — in other words relationships between values that change. Economists try
to find out if variable A changes every time value B changes. They want to find out if
variable A is dependent on variable B. This is called analysis, and there are two main
kinds of econometric analysis: rime-series analysis and cross-sectional analysis.

Time-series analysis shows how variables change over a period of time. How
salaries increased over the last century, for example. Gross-sectional analysis
compares variables at one point in time. The salaries of men compared to women
right now, for example. Of course, economists like to make things more complicated
than that. Sometimes they combine cross-sectional with time-series analysis, and this
is called panel data analysis.

As we said earlier, econometrics is good for testing economic theories.
However, there is also a practical side to econometrics. The same maths and statistics
are used by governments and business managers, as well as academics. Econometrics
can help governments and companies find out how well they are doing. With the data
from all this mathematics, they can make better decisions and plan better for the

future.
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B Comprehension
Now read the text again and choose the best answer A, B or C to complete each
sentence.
1. A theory is only good if you can ...
A express it clearly.
B test it.
C measure it.
2. Empirical evidence is evidence that...
A we can see.
B economists can’t use.
C can be measured.
3. Econometrics is ...
A the maths that economists use.
B a way to measure how much someone saves.
C a formula to find out why people save.
4. Panel data analysis ...
A only shows differences over time.
B only shows differences between groups.
C shows differences between groups and changes over time.
5. Econometrics is ...
A only good for proving theories.
B good for making practical economic decisions.
C only good for academic work.
Before you listen
Discuss the following with your partner.
The table below is an example of econometric data.
e What does the table show?
e |s this time-series analysis or cross-sectional analysis?

e What do you think are the missing numbers?
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C Listening
Weekly spending by children aged seven to fifteen in the UK

Girls Boys
sweets, snacks and food: £Q) ....... £4.60
clothing and personal care: £2)....... £1.30
mobile phone charges: £3)....... £0.40
magazines and books: £0.90 £4) .......
music, DVDs and videos: £0.70 £0.90
games and hobbies: £0.90 £05).......

Now listen to somebody talking about a survey of young people’s spending habits.

Fill in the gaps in the table.

Before you read
Discuss these questions with your partner.
e Why do you think gold is expensive?

e What might be the reason that so many electrical goods are quite cheap now?

D Vocabulary

Complete each sentence with a word from the box.

Applies available confusing curve demand exception

impressive  increase law  limited set shift  taxes

1. Some of the puzzles in this book are really

2. Newton’s of gravity explains why things fall towards the earth.

3. There is a lot of for organic fruit and vegetables these days.

4. When you throw a ball, it follows a back down to earth.

5. Gold is expensive because there is only a very supply.

6. When a company stops making a product, it isn’t any more.

7. Normally | arrive at work at 8.00 am. But Thursday is an
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8. This rule to everyone in the school, even teachers.

9. Everyone who earns a salary must pay to the government.

10. There has been a in public opinion about the environment recently.
11. There has been a huge in demand for air conditioners due to the hot
weather.

12. Prices have been too high and nobody can afford the goods.

13. I found the work you’ve managed to do very .Well done!
Reading 2

The law of demand

Economics can often be very confusing. Econometric formulas and impressive
charts are sometimes impossible to understand. Thankfully though, some economic
ideas are completely obvious. One of these ideas is the law of demand. Economists
are usually disagreeing with each other, but the law of demand is the only thing they
all agree on. They all agree on it because it makes sense even to non-economists like
you and me.

Demand is how much of the same good or service people would like to buy. The
law of demand says that demand for something falls as its price rises. Economists
show this concept with the demand curve which you can see in figure 1.

The reason why the law of demand works is quite obvious: the money we have
Is limited. If something becomes more expensive, we will have less money available
to spend on our other needs. If the product or service is not a necessity we will decide
to buy less of it.

Most rules haw exceptions, but economists agree that there are very few
exceptions to the law of demand. It even applies to basic necessities like water. When
water becomes more expensive, people find ways to use less. When the government
put higher taxes on petrol, people try not to use their ears so often. The fall in demand
might be very small, but it is real.

So price has an effect on demand, but the strength of the effect varies. The

strength of the price / demand relationship is called price elasticity. Economists use a
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simple econometric formula to measure price elasticity for a certain product in a
particular market. This helps governments and companies set prices at the correct
level for a particular time and plan price increases.

Don’t forget, though, that other things affect demand apart from price. For
example, during a very cold winter, demand for heating fuel like gas or coal will rise
at any price. If the winter is unusually warm, then demand for fuel will fall
Economists say that these situations cause a shift in the demand curve. You can see
this in figure 2.

In figure 2, the curve is still the same shape because price still has the same
effect on demand. However, something else has caused a general increase in demand
at all prices. A rise or fall in people’s incomes, fashion, climate and many other
things can influence demand in this way.

E Comprehension
Now read the text again and decide whether these statements are true or false.
1. The law of demand is easy to understand.

2. The law of demand says that when people want more of something, its price rises.

3. There are no exceptions to the law of demand.
4. Price elasticity shows how much prices change when demand changes.
5. There are many reasons why people decide to buy something, not only price.

6. A shift in demand changes the shape of the demand curve.

Before you listen
Discuss the following with your partner.
e The graph below shows one of the basic relationships in economics: supply
and demand.
e Talk about the graph with your partner.

e Can you label the diagram with the words from the box?



e Amount

and sold

F Listening

Now listen and check if you were right.

G Speaking

bought

Equilibrium point

26

Demand curve e Price

e Supply curve

---------------

Discuss these questions with your partner.

Apart from price, what other things affect demand for a product or service?

If you were a producer, how would you react to increases, or the opposite —

decreases in demand?

What products or services are most in demand m your country now?
Task
Give a two-minute talk on the relationship between demand and supply.

First, read text 2 again and look at the diagram for exercise F Listening. Then make

notes on the following:

the law of demand and the reasons for changes in demand

the supply curve and the reasons for it

how the market takes into account the needs of producers and consumers
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H Writing
With a partner, look at the supply and demand charts for ice cream and answer the
following questions together.

e What do the two charts compare?

e What happens to the supply of ice cream as price increases?

e What happens to demand for ice cream as price increases?

e What changes m June — supply or demand?

e Why do you think there is a shift in demand for ice cream in June?

Report

Now write a short report describing the information in the charts. Organise your
report like this

PARAGRAPH 1

Introduction. Explain briefly what the charts are about and, very generally, what
they show. Begin like this: Both charts show demand and supply curves for ice
cream. The charts also show ...

PARAGRAPH 2

The supply curve. Describe the supply curve for ice cream. Explain the relationship
between price and supply. Give example figures from the chart to illustrate your
points. Note that the supply curve is the same for both months. Begin like this: The
supply curve for both December and June is the same. When production is low. The
price ...

PARAGRAPH 3

The demand curve. Describe the general relationship between price and demand.
Give example figures from the chart to illustrate your points. Begin like this: The
charts also show that there is a relationship between demand for ice cream and price.
Demand rises ...

PARAGRAPH 4
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Shift in demand. Describe the difference between the demand curve for December
and June. Mention that the equilibrium point is higher in June than in December (give
figures). Give reasons for the shift in demand. Begin like this: However, there is a big

difference between the demand curve for December and the demand curve for June

Write about 220 words
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UNIT 3
Before you read
Discuss these questions with your partner.
e [magine a world without money.
e How do you think society would be run?
e Would there be an economy as we understand it?
e Can you think of any examples of situations where people don’t use money,
either from the past or now?

e Do you know what a traditional economy is?

A Vocabulary

Choose the correct answer A, B or C from the list below.

1. Although we can buy meat in the shops, some people still like to _ animals as a
hobby.

2. s another word for extra things that are not needed.

3. There are still __ of people living traditional lives in the rainforests of South
America.

4. In most modern societies, __ like celebrations and dances have disappeared.

5. Corn and wheat are two ____ that farmers grow in their fields.

6. One of the ___ of playing sports is that you keep fit.

7.0ne of the ___ of living in a city is the noise.

8. Many African countries suffer from regular ___ when no rain falls for months.

9. Heavy rain causes ____in many parts of Europe each year.

10. East Asian countries are well known for their _ industries such as computers

and cameras.

11. Exercises and sports at school are sometimes called _ education.
1 A chase B hunt C eat
2 A surplus B goods C shortage

3 A customs B tribes C pygmies
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4 A parties B patterns C customs

5 A crops B animals C foods

6 A goods B disadvantages C benefits

7 A drawbacks B benefits C customs

8 A floods B droughts C hurricanes
9 A floods B droughts C hurricanes
10 A agricultural B heavy C technology
11 A physical B mental C fun

B Reading 1

The traditional economy

It’s hard to imagine our lives without coins, banknotes and credit cards. Yet tor
most of human history people lived without money. For thousands of years human
societies had very simple economics. There were no shops, markets or traders. There
were no employers, paid workers or salaries. Today, we call this kind of economy the
traditional economy and in some parts of Asia, South America and Africa this system
still exists.

People who live in a traditional economy don’t have money because they don’t
need it. They live lives of subsistence. That means they hunt, gather or grow only
enough food to live. There is almost no surplus in the traditional economy, and there
is almost no property Families may own simple accommodation, but land is shared
by all the tribe. Economic decisions are taken according to the customs of the tribe.
For example, every family may need to give some of the crops they grow to the tribal
leader, but keep the rest for themselves. They don’t do this because it makes
economic sense. They do it because the tribe has always done it. It’s simply a custom.

Custom, also, decides what jobs people do in the traditional economy. People
generally do the jobs that their parents and grandparents did before them. Anyway,
there aren’t many jobs to choose from in the traditional economy Men are hunters,

farmers or both. The woman’s place is at home looking after children, cooking and
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home-making. This division of labour between men and women is another
characteristic of the traditional economy. Whatever the work is, and whoever does it,
you can be sure it’s hard work. This is because traditional economies have almost no
technology. Physical strength and knowledge of the environment are the tools for
survival.

Like any other economic system, the traditional economy has its benefits and
drawbacks. Probably the biggest benefit is that these are peaceful societies. People
consume almost everything they produce and own practically nothing. They are
equally poor. For all these reasons, war is almost unknown in these societies.

However, people who live in traditional societies are among the poorest people
in the world. Because custom decides what people do, nothing in these societies ever
changes. Because there is no technology, people depend on nature to survive. They
have no protection from environmental disasters like thoughts and floods. They are
always in danger of hunger and disease.

But the traditional economy is in danger itself. There are only a few examples

left on the planet. In 100 years from now, it may have disappeared forever.

B Comprehension

Now read the text again and match each paragraph with the correct heading.

PARAGRAPH1 A Life without money

PARAGRAPH2 B The advantages of the traditional economy
PARAGRAPH3 C The future of the traditional economy
PARAGRAPH4 D The disadvantages of the traditional economy
PARAGRAPHS5 E The importance of tradition

PARAGRAPHG6 F Work in the traditional economy

Before you listen
Discuss these questions with your partner.

e What kind of people do you think still live in a traditional economy today?
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e Where do they live?

e \What are their lives like?

C Listening
Now listen and complete the notes about the Mbuti. Use one to three words for
each gap. Then listen again and check your answers.

Pygmies

Pygmies live in parts of Africa and (1)

Pygmies are known for their (2)

They live in societies that still have a (3)
The Mbuti
The Mbuti live in central (4)

They live in houses made from (5)

(6) do the hunting.
(7) build houses.
(8) look after the children.

Before you read
Discuss these questions with your partner.
e Do you think most countries have a market which is free from government
management?

e Can you think of any examples supporting or disagreeing with this idea?

D Vocabulary

Complete each sentence with a word or phrase from the box.

Advertise afford competition controlled costs incentive limit
prepared  profit  raise  reduce role street market theoretical
1. Every Saturday this road becomes the local whore people come to

buy fruit and vegetables.
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2. Businesses their products in the media to attract more customers.

3. My in the business is to meet customers and find out what they want.
4. Making money is the main to work.

5. | bought tins old camera for €50 and sold it for €78. That’s €25
6

7

8

9

. If there’s only one producer in the market, there’s no

. Production are the amount of money companies spend to make a product.
. The idea that life exists on other planets is . Nobody knows for sure.
A economy is one where a government decides what can be bought

and sold and, or how it is done.

10. The speed on this road is 90 kilometres per hour.

11. When there is a demand we prices but we them if we

want to sell something quickly.

12. 1 can’t that car — it’s far too expensive.
13. People are to pay a lot for services if they are of a good quality.
Reading 2

The market economy

Have you ever walked through ft busy street market? People push their way
through crowds of others in or tier to reach the stalls first. The air is full of deafening
shouts. Stall owners yell to advertise their goods. Buyers cry out their orders It’s hard
to imagine, but behind this noisy confusion is a very logical economic theory the
market economy.

The market economy is sometimes called the free market. A free market is not
controlled in any way by a government. It is also free from the influence of custom or
tradition. In a free market, the only reason why things are bought and sold is because
there is a demand for them. Prices for goods and services arc simply what people are
prepared to pay. The market economy is not really controlled by anyone. It controls
itself.
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The street market where we began has many of the characteristics of the free
market. Customers arrive at the market with a shopping list of things they need. They
also come with an idea of how much they are prepared to pay Stall owners sell what
customers demand, and try- to get the highest price they can for it Supply and
demand control what is on the market and how much it sells for. In the wider
economy, we are all customers, and the stall owners are like companies.

The role of the company in the free market is to supply what people want.
However, companies need an incentive. The incentive is profit. There are two ways
for companies to make a profit. The first way is to raise their prices. The second way
Is to reduce their production costs. And this brings us to two more features of free
market economy: competition and technology.

Competition exists in a free market because, theoretically, anyone can be a
producer. This means that companies have to compete with each other for a share of
the market Competition is good for consumers because it helps to control prices and
quality. If customers aren’t happy with a product or service, or if they can’t afford it,
they will go to a competitor.

Technology exists in a free market because producers need ways to reduce their
costs. They cannot buy cheaper raw materials. Instead, they must make better use of
lime and labour. Technology is the use of tools and machines to do jobs in a better
way. This helps companies produce more goods in less time and with less effort. The
result: more profit.

People often think that most economies are free markets. However, at the
macroeconomic level, a truly free market economy does not exist anywhere in the
world. This is because all governments set limits in order to control the economy.
Some governments set many limits, other governments set very few, but they all set
some. For this reason, a true market economy is only theoretical. Nevertheless, many

of the features of the market economy do exist in most societies today.

E Comprehension



Now read the text again and answer these questions in your own words.
e Who controls a market economy?
e Who decides what products are for sale in a free market?
e What do companies want?
e Why is competition a good thing?
e Why does technology exist in the market economy?
e Why are there no true market economies in the world today?
Before you listen
Discuss these questions with your partner.
e Do you think the free market is a good idea?

e Is it good for society? Why / Why not?

F Listening

Now listen and choose the correct answer.
Adam Smith’s invisible hand theory:

1. People are naturally selfish / helpful.

2. The free market only demands what is good for society / producers.
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3. When people work for their own good, they do good for consumers / society also.

In the real economy:

4. In the free market there is a demand for goods which are not expensive / necessary.

5. There is also demand for goods which are good / bad for us.

6. The market / Advertising can create demands that do not normally exist.

G Speaking
Discuss these questions with your partner.
e Why do you think the traditional economy has almost disappeared?

e Would you like to live in a traditional economy? Why/Why not?

Task
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You are the leader of a scientific expedition to the forests of Central Africa. You
spend six months living with the Mbuti. Give a short presentation about your
expedition. Use the space below to make your notes.
Talk about:

e why you went

e why the Mbuti are important people to study

e what the environment is like

e the Mbuiti lifestyle

e their economic system

e what we can learn from the Mbuti

H Writing

Write an essay comparing the traditional economy with the market economy.
Discuss the advantages and disadvantages of each economy. Decide which is best
in your opinion.

Remember, you should organise your ideas logically.

These phrases will help you: firstly, secondly, furthermore, however, on the other
hand

Discursive essay

PARAGRAPH 1

Introduce the subject by saying what a traditional economy is and what a market
economy is.

PARAGRAPH 2

Say what the advantages and disadvantages of the traditional economy are.
PARAGRAPH 3

Say what the advantages and disadvantages of the market economy are.
PARAGRAPH 4

Conclude by saying what you think the best system is.

Write 200-250 words
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Before you read
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Discuss the following with your partner.

You learnt about the free market economy in the last unit.

Can you think of any disadvantages it may have?

With your partner, see if you can think of any ideas for these points:

e advertising

e prices

e junk food
A Vocabulary

Match the words and phrases with the definitions.

commodity
standard
socialist
industry

steel

indicate
warning system

shortage

© 00 N oo o &~ W N -

rapidly
10 ration
11 solution
12 hoard
13 operate
14 wages

A when the government sets a limit on how much people
can buy of something

B when there is not enough of something

C astrong metal made from iron

D something you can buy or sell

E what is usual or typical

F all the businesses and companies involved in the
production of heavy goods, food, technology, etc

G describes someone / something aiming to share wealth
equally

H secretly storing and hiding goods for use later

| work

J show

K very quickly

L money paid regularly for work done

M answer to a problem

N a system which tells us that something bad is going to
happen
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Reading 1
The planned economy

In many ways, the planned economy is the direct opposite of the market
economy. In the market economy, the forces of supply and demand decide
everything: what is produced, how much is produced, the methods of production and
the price. In the planned economy, all of this is decided by the government. In every
way that the market economy is free, the planned economy is controlled.

Unfortunately, no economic system is perfect. If there was a perfect system,
economists wouldn’t have anything to argue about! Market economies have their
strengths, but they have their problems, too. Planned economies try to provide
solutions to these problems. For example, the free market supplies the things that
people want. However, what people want and what they need are not always the same
Fast food is always m demand, but it’s bad for us. In a planned economy, the
government could decide to stop last food restaurants operating in the market.

A second problem with five markets is that producers always want the highest
price. Often the poor can’t afford things. In a planned economy, the government sets
prices. They make sure that everyone can afford basic commodities. This is one way
that planned economies try to share things equally. Another is to control how much
people get paid.

In a planned economy, workers’ wages depend on the service they provide to
society. If people can live without their service, you get paid less. This is very
different from the free market. In the free market, someone’s salary mostly depends
on the demand for his or her work. If people like what you do, you get paid more.

Before 1900, there were few examples of planned economies. During the 20"
century, however, the planned economy became the standard for socialist
governments like tin IUSSR and China. These countries experienced amazing
economic growth in a very short time. In a market economy, it takes a long time for
big industries to grow from small companies. In a planned economy, however, huge

industries can grow overnight. The government simply decides to spend money on
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factories and factories appear. Britain, for example, took centuries to develop her
steel industry in a free market economy. China developed hers in a few decades.

But, as we said, no economic system is perfect. The planned economy has many
drawbacks. One of these drawbacks is problems with supply. It is difficult for
governments of planned economies to know exactly how much to produce to meet
demand. In a market economy, when the price of a commodity rises, this indicates a
rise in demand. Companies then supply more to the market. This warning system
doesn’t work in a planned economy because price is controlled by the government.
The result is shortages.

When shortages happen, governments can do two things ration goods or raise
prices. In this situation, people then start to hoard things, and the problem gets even
worse. As the population gets bigger, shortages like this become more common. For
this reason, China — once the world’s biggest planned economy — is rapidly moving

towards another system: the mixed economy.

B Comprehension

Now read the text again and decide whether these statements are true or false.

1. In a planned economy, the government decides how products are made.
2. In a planned economy, suppliers can sell anything that is in demand.

3. In a planned economy, a doctor should get paid more than a footballer.

4. Planned economies grow more slowly than market economies.

5. In a market economy, greater demand for something makes it cheaper.

6. Planned economies are difficult to run in countries with large populations.
Before you listen
Discuss this question with your partner.

What everyday problems do you think people face in a planned economy?

C Listening
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Rita lives in a country with a planned economy. Listen to her talk about her life
and the problems she faces. Tick the problems she mentions in the list below. Then

listen again and check your answers.

1 food shortages o 4 lack of career opportunities O
2 low wages m 5 lack of luxury items m
3 unemployment o 6 high pi ices O

Before you read
Discuss the following with your partner.
e Can you actually think of any examples of countries with a completely free
market or a totally controlled one?
e Give any examples you can think of or say why you can't come up with any

true examples.

D Vocabulary

Complete each sentence with a word or phrase from the box.

agriculture ban efficiently free enterprise manufacturers

monopoly  private sector profit motivation  public transport state sector

telecommunications trade

1. is when businesses are able to trade without control from the
government.

2. industries belong to and are run by the government.

3. industries belong to and are run by independent businesses.

4. Buses, trains and planes are examples of

5. is another word for farming.

6. produce new goods from raw materials.

7. When a business works it runs successfully without wasting resources.
8. Telephone and Internet systems are part of the industry.

9. Is what drives businesses in the market economy.
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10. When the government puts a on a commodity, people are

not allowed to buy or own it.

11. If only one company controls part of the economy, they have a

12. When companies they do business with each other.

Reading 2
The mixed economy

Most economists would say that there are no examples in the world today of a
completely free market or a completely controlled economy. Instead, every country
operates a mixture of the two systems. Even in the freest economies, like the IUSA
there is some government control; even in the strictest planned economy then is some
free enterprise.

Economies mix government control and free market values in different ways.
One way is to let privately owned businesses exist alongside state run industries. The
economy becomes divided between the state sector and the private sector. The state
sector often includes industries that the government thinks are important and need
protection from the risks of the free market. These could include public transport,
hospitals, schools and the postal service. The state sector can also include large
industries that are important for a country's economic health- such as oil, steel or
agriculture. These are sometimes called primary industries because they provide
basic materials to manufacturers.

These state sector industries use money that the government collects in taxes.
Often, they don't need to compete with other companies because no other company is
allowed to provide the same product or service. However, many countries have
recently started a process called deregulation.

Deregulation means freeing up the economy to allow private businesses to
compete with state-run industries. The state sector should then run more efficiently in
order to compete in the free market and because it now has less government

protection.
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Deregulation of services like telecommunications, transport and banking has
happened in many countries in recent years. People have generally accepted these
changes. However, generally the public is less happy when governments start talking
about deregulation in education and health services. Many people feel that profit
motivation will harm these services rather than improve them.

Another way in which economies today are mixed is that governments put limits
on free enterprise. For example, governments may decide to ban trade in certain
goods if they are dangerous. They may also create laws to make sure companies trade
honestly or to prevent monopolies. If a company has a monopoly, normal market
forces do not affect it. This is bad for consumers and the economy in general.
Governments may also regulate methods of production. They do this to guarantee that
products are safe for consumers and to protect the environment.

Many economists would argue that the mixed economy is the best system for
consumers. This is because consumers have two ways to control the economy by
choosing to buy a company's goods or services and by choosing to give political

parties their votes.

E Comprehension

Now read the text again and answer the questions.

1. What do most economists believe about economies in the world today?
A There are a number of free markets.
B Some countries have a completely planned economy.
C A mixed economy exists in some way in all countries.

2. Why do governments choose to run some industries?
A So they can collect taxes.
B Because they need to be protected from the risks of the free market.
C To encourage a divided economy.

3. Why do governments deregulate some industries?

A To make the industries more efficient.



B To protect them.

C Because there is too much competition.

4. According to the text, what is not very popular with the public?

A Deregulation of public transport.

B Deregulation of hospitals and schools.

C Deregulation of telecommunications and banking

5. What type of state control is not mentioned in paragraph 5?

A Controlling the way companies do business.

B Controlling what companies sell.

C Controlling the prices companies set.

Before you listen

Discuss the following with your partner.
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Here is a list of arguments against state-run hospitals and arguments against private

hospitals.

Read the list and decide under which heading you think each one should go.

. badly organised
. creates a class of poor, unhealthy people

. hospitals in bad condition

. Is bad for society in general
. long waiting lists for patients
. only the rich can afford health care

. staff are poorly paid

© 0O N O O B~ W N P

taxpayers support everyone

. hospitals will reduce costs to make money

Against state run hospitals

Against private hospitals
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F Listening

Now listen and check your answers.

G Speaking
Discuss these questions with your partner.
Do people only work for money? What other motivation is there to work?
Task
Work in groups of three. Each of you will take one of the following roles.
STUDENT A
You believe that the planned economy is best.
STUDENT B
You believe that the free market is best.
STUDENT C
You believe that a mixed economy is best.
Take turns to present arguments to support your ideas for the best economic system.
Remember to include:
e why the system is good for the economy
e why it is good for society

When each of you has presented his or her argument, have an open discussion.

H Writing

Write an essay comparing the planned economy with the mixed economy. Discuss
the advantages and disadvantages of each economy. Decide which is best in your
opinion.

Use these words and phrases to organise your ideas: despite this, nevertheless,
consequently, in contrast, similarly

Read texts 1 and 2 again and use these notes to help you. Write four paragraphs.
Discursive essay

PARAGRAPH 1
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What is a planned economy?

What is a mixed economy?

Introduce the subject by saying generally there are these two kinds of economies that
have advantages and disadvantages.

PARAGRAPH 2

Describe a planned economy, explaining its advantages and disadvantages.
PARAGRAPH 3

Describe a mixed economy, explaining its advantages and disadvantages.
PARAGRAPH 4

Conclude by saying which system you think is best.

Or

Explain why you think neither system is the best.

Write 200-250 words
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UNIT 5

Before you read

With your partner discuss how you make choices about what you are
going to buy. Think about:

budget

the price

satisfaction with the goods

A Vocabulary

Choose the correct word or phrase.

1. If you are in a hurry, it can be difficult to make a maximum / rational decision.

2. The amount of money you have to spend is your budget constraint / deciding
factor.

3. The maximum / rational speed limit on this road is 120 kilometres per hour.

4. Quality is often the budget constraint / deciding factor when people choose
something to buy.

5. Some people calculate / assume how much they spend every week.

6. Green is a combination / an alternative of yellow and blue.

7. When you buy something from a shop, you make a purchase / budget constraint.

8. When you calculate / assume something is true, you guess that it is true.

9. The use or satisfaction you get from something you buy is called utility /
purchase.

10. Olive oil is a healthy combination / alternative to butter.

Reading 1
Consumer choices
It’s a hot summer day. You’ve been out walking all morning and you’re getting

thirsty. It’s also about lunchtime, and you’re feeling pretty hungry, too. What luck!
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Here’s a kiosk selling snacks. You’ve got six euros to spend. You can buy bars of
chocolate or bottles of water ... or a combination of both. Now you’ve got another
problem: consumer choice.

If you’re a neoclassical economist, however, there’s nothing to worry about.
Neoclassical economists believe that consumers make rational choices. Before a
consumer buys something, they think about the cost and the amount of satisfaction
the purchase will give them. They then compare the price and satisfaction of
possible alternative purchases. In the end they buy what gives them maximum
satisfaction at the lowest cost.

So, what will you buy from the kiosk? An important deciding factor is the
amount you have to spend. Economists call this your budget constraint. Your total
budget is six euros. Bottles of water are two euros each, chocolate bars are one euro
each. You could buy three bottles of water, or you could buy six chocolate bars. Or,
you could buy any combination that adds up to your total budget. We can put all of
this information on a budget line like the one in figure 1. The budget line shows what
combinations of goods are possible. Economists call these combinations of goods
bundles but which is the best bundle? This depends on something called utility.
Utility is the economists’ word for the satisfaction we get from a purchase. Each
good has its own utility value for the consumer. The utility of a bundle depends on
two things: the utility of the goods in the bundle, and how much of each good is in
the bundle. Figure 2 shows the bundles of chocolate and water that give the same
level of utility. This kind of chart is called an indifference curve. Any point on the
curve has the same utility value as any other point. For example, two bottles of water
and two chocolate bars has the same utility as one bottle of water and four chocolate
bars.

In figure 2. We assume that chocolate and water have tin same utility value for
the consumer. But if water had a higher utility value than chocolate, the curve would
be a different shape. Many things can affect the utility of a good. These include the

cost of the good, the consumer’s income and something called marginal utility
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To understand marginal utility, just think about chocolate bars. Every time you
consume a bar of chocolate, the satisfaction you get from the next bar will be less.
In other words, you get less utility every time you eat another bar. This decrease in
utility is called the marginal utility. The marginal utility is the one of an additional

item, for example:

Bars of chocolate | Marginal utility Total utility
0 - 0
1 10 10
2 9 19
3 8 27
4 7 34

Put very simply, budget, price and level of utility will all affect your choice at
the kiosk. The neoclassical theory of consumer choice says that it is possible to
calculate demand for products if we know this kind of information. However, not all

economists agree!

B Comprehension
Now read the text again and answer the questions.
1. According to neoclassical economists, what do consumers want?
A The most satisfaction at the lowest cost.
B The cheapest product.
C To spend all their money.
2. What is budget constraint?
A An amount of money you want to save.
B A combination of money and satisfaction.
C The total amount of money you have to spend.
3. What is utility?
A How much of a product you get.

B The satisfaction you get from a product or service.
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C The cost of a product.
4. What explains marginal utility?

A The more satisfaction something gives you the more you want it.

B The more satisfaction something gives you, the less you want it.

C The more you have of something, the less satisfaction it gives you.
5. What do neoclassical economists believe about consumers?

A They make logical decisions.

B They always know what they want before they go shopping.

C They don’t know what they want.

Before you listen
Not all economists agree with the theory of consumer choice described in the text.

Here is a list of reasons why. Complete each sentence with a word from the box.

C Listening

m advertising m constraints

m information m mistakes m rational

1. Consumers are not always

2. Consumers often don’t have enough :

3. Choices are affected by

4. Consumers make

5. Budget may not guide consumers’ choice.

Now listen and check your answers.

Before you read
Discuss this question with your partner.

What do you think a company has to spend money on? Make a list of your ideas.
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D Vocabulary

Complete each sentence with a word or phrase from the box.

Interest keep track of loan  maintain minus  nasty part-time
rate relationship revenue the short term

1.1 what | spend by writing everything down in a notebook.

2. Thereisa between the quality of a product and its cost.

3. A company’s total is all the money it receives from sales.

4, Is the next few weeks or months. The long term may be the next

years or decades.

5. Five three is two.

6. Factories have to then machines to keep them working properly.

7. A worker works for only a few hours a day or a few days per week.

8. When someone or something is.. they aren’t nice at all.

8. If you borrow money from a bank, you have to pay it back with an extra charge

which is called

9. When somebody lends money, they are giving a

10. The at which something happens is how fast it occurs.

Reading 2
Costs and supply

Companies have to spend money in order to make money. The money they
spend to manufacture their goods or provide their services are called costs. Costs are
important. Any company that doesn’t keep track of costs will soon be in trouble. And
there are many different kinds of costs to keep track of such as fixed costs and
variable casts.

Why are costs important? Well, for two reasons. Firstly, there is a relationship
between costs and profit. Profit is overall revenue minus costs. Secondly, there is a
relationship between costs and supply. To understand this relationship, we need to
look at some types of cost. One type is fixed costs. Fixed costs are costs that don’t

change. They are costs that the company has to pay each month, for example, or
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each year. The value of fixed costs will not rise or fall in the short term. Examples
include the rent the company pays, the interest they have to pay each month on any
loans and the salaries they have to pay for permanent employees. The good news
about fixed costs is that they don’t change with increases in production. For
example, imagine a company produces 1,000 pens in January and 2,000 pens in
February. The rent for the factory remains the same for both months. Variable costs,
however, change (vary) with the size of production. The more pens the company
produces, the more these costs increase. Examples of variable costs arc the raw
materials needed for production, the cost of electricity and the cost of maintaining
machines that are working more. Also, the company may need to get more part-time
employees. Their hourly pay is another variable cost. In unit 1 we said that the price
of a product or service increases as supply increases. Variable costs are the reason
why.

In a perfect world, variable costs will increase steadily as production
increases. This is called constant return to scale. However, this is not a perfect
world! Sometimes, variable costs rise at a faster rate than production. This nasty
situation is called a diseconomy of scale. On the other hand, companies sometimes
get lucky. Variable costs can rise at a much slower rate than production. This is

called an economy of scale.

E Comprehension

Now read the text again and answer these questions in your own words in the
space provided below.

1 What are costs?

2 Why are costs important?

3 What are fixed costs?

4 What are variable costs?

5 Why is an economy of scale good?

6 Why is a diseconomy of scale bad?



52

Before you listen
Discuss the following with your partner.
e Price is not only the cost of something.
e Every purchase has a hidden cost. What do you think this is?
F Listening
You’re going to hear about another kind of cost called opportunity cost. Listen
and choose the best answer for each question. Then listen again and check your
answers.
1 What is opportunity cost?
A Something you have to give up in order to have something else.
B Something a company can charge people for goods or services.
C Something that companies pay when they first start business.
2 What could be the opportunity cost of watching television?
A Getting sore eyes.
B The cost of buying a television.
C Not sunbathing in the garden.
3 What is the opportunity cost for Alice’s decision?
A 3,000 B 39,000 C 13,000

G Speaking
Discuss these questions with your partner.
e How do you make decisions about what to buy?

e Do you think people make rational decisions? Why / Why not?

Task

Imagine you are the manager of a small manufacturing business (you decide what the
company makes). Give a short talk to your employees explaining what the
company’s costs are.

First, read the texts again and make notes on the following:
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- fixed costs; - variable costs; - Does your company have an economy of scale?

H Writing
You’re the librarian at your school. The head teacher has asked you to buy some,
more materials for the library. You can choose from the following.
e Dbooks, including fiction for teenagers, poetry, special interest and hobby
books (€10 each)
e magazine subscription for one year (either a music magazine or a fashion
magazine) (€50)
e educational CD- ROMS for science, history and technology (€20 each)
e aset of encyclopedias (€100) Your budget constraint is €200.

E-mail to your head teacher
Write an e-mail to your head teacher explaining the budget constraints you have.
Tell him or her what you want to buy and why.
PARAGRAPH 1
Explain why you’re writing.
Useful words and phrases:
Dear ..., I’m writing in order to
PARAGRAPH 2
Explain your budget constraints and the costs of materials.
Useful words and phrases:
Our current budget constraint is... There are a range of materials that we could
buy. These include...
PARAGRAPH 3
Say how you intend to spend the money.
Useful words and phrases:
After careful consideration. | think the best purchases would be...
PARAGRAPH 4
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Give reasons why you have chosen to spend the money in this way.
Useful words and phrases.
| have chosen, because, would be a good purchase because, would be very useful
for, first, next, m addition, finally

Sign off in a polite way

Write 100-150 words
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UNIT 6
Before you read
Discuss the following with your partner.
Here are some things that affect how a market operates. How important do you think
each one is?
e the size of companies
e what products and services are like
e what information consumers and companies have about products
e ease of entry into the market for companies

e companies having the resources and technology they need

A Vocabulary

Choose the correct answer A, B or C.

1. Companies usually have a __ with senior managers at the top and employees at
the bottom.

2. McDonald’s has avery big _ of the fast food market.

3. Some teachers mark students work usinga __~ from A to E.
4.Noone’sworkis . We all make mistakes.

5. A perfect economic system may never

6. A monopoly means an absolute or complete monopoly.
7.Notalltwinsare . Some twins are brother and sister, for example.
8. Sometimes a person’s colour or race canbea _ to getting work.
9.Weuse curtainsto __light.

10. Countries have been _ with each other for thousands of years.
11. The __ pointis where two things are balanced against each other.
12. Honey is a healthier __ for sugar to make things sweet.

13. Everyone should have _ to education.

1 A shape B structure C building

2 A piece B part C market share
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3 A scale B point C grade

4 A good B better C perfect
5Ais B live C exist

6 A pure B good C clean

7 A similar B identical C same

8 A gate B barrier C block

9 A barrier B close C block
10 A shopping B trading C selling
11 A equilibrium B middle C equal
12 A difference B addition C substitute
13 A access B openings C entrance
Reading 1

Market structure and competition

When economists talk about market structure they mean the way companies
compete with each other in a particular market. Let’s take the market for pizzas, for
example. There may be many thousands of small companies all trying to win a share
of the pizza market, or there may be only one huge company that supplies all the
pizzas. These are two very different market structures, but there are many other
possible structures. Market structure is important because it affects price. In some
market structures, companies have more control over price. In other market
structures, consumers have more control over price.

You can think of market structure as a kind of scale. At one end of the scale is
perfect competition and at the other end is pure monopoly. In a market with perfect
competition, there are many companies supplying the same good or service, but none
of them are able to control the price. This sounds fine, but in reality it is very difficult
for such a market structure to exist. What’s needed?
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First of all, there must be many small companies competing. Each company has
its own small share of the market. If one company has a much larger share than any
other, it can affect price, and perfect competition will no longer exist.

Secondly, products or services from different companies must be the same. This
doesn’t mean that everything on the market has to be identical, but they have to be
perfect substitutes. In other words, one company’s product must satisfy the same
need as another company’s. Imagine a company produces a television that also makes
tea. Its product is different from everyone else’s. If it chooses to raise the price of its
TVs, customers may still want to buy them because of this difference.

Thirdly, customers and companies must have perfect and complete information.
This means that they know everything about the products and prices on the market
and that this information is correct.

Fourthly, there mustn’t be any barriers to new companies entering the market. In
other words there must not be anything that helps one company stay in the market
and blocks others from trading.

Finally, every company in the market must have the same access to the
resources and technology they need.

If all of these conditions are met, there is perfect competition. In this kind of
market structure, companies are price takers. This is because the laws of supply and
demand set the price, not the company. How does this work? Very simply! An
increase in demand will make a company increase its price in order to cover costs. It
might try to push its prices even higher than necessary so that it can make more
profit. However, it will not be able to do this for very long. The increase in demand
and the higher price will make other companies want to enter the market, too. This

will drive the price back down to equilibrium.

B Comprehension
Now read the text again and decide whether these statements are true or false.

1. Market structure describes how competitive a market is.
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2. Perfect competition and pure monopoly are opposites.

3. Four conditions are necessary for perfect competition to exist.

4. In perfect competition, every company makes a slightly different product.
5. Perfect competition makes it easy for new companies to start trading.

6. When there is perfect competition, companies are able to set any price they want.

Before you listen
Discuss the following with your partner.
Perfect competition is really only an idea. It almost never happens in the real world.

Why do you think this is? Can you think of any market that has perfect competition?

C Listening
Now complete each sentence with words from the box. Then listen and check your
answers.

e amonopsony e amonopoly

e imperfect competition e anoligopoly

1. Any market structure apart from perfect competition is called

2. is when there is only one seller of a good or service.
3. is when only a small number of sellers control the market.
4. is when there is only one buyer in the market for a product or service.

Before you read
Discuss these questions with your partner.
e Can you think of any reasons why there are monopolies?

e Do you think monopolies have advantages as well as disadvantages?

D Vocabulary
Complete each sentence with a word from the box.

e aggressive e cables o illegal
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e innovation o legal e naturally
e network e OcCcurs e printing
e publishing o takeover

1. A IS a set of connections.

2. When one company gains control of another company it is called a

3. Raw materials are things like wood or oil that exist

4. Electricity travels along to reach our houses.
5. people get what they want by violence and force.
6. companies are responsible for the writing and pictures in books, etc.
7. companies make books.
8. Is inventing and think mg of new solutions to problems.
9. If something is it is allowed by law.
10. When something is it is not allowed by law.
11. If a problem you will have to deal with it.
Reading 2
Monopolies

In a monopoly, one company has a much larger market share than any other
company In fact, their share is so big that other companies cannot really compete.
When there is a monopoly, the normal laws of supply and demand do not always
work. Monopolies come in different kinds, hut a pure monopoly is when there is only
one company in the market providing a particular product or service This situation, in
fact, is the exact opposite of perfect competition. How do pure monopolies happen?

Some monopolies occur naturally. This happens when a company manages to
create an economy of scale. An economy of scale is when variable costs of
production increase more slowly than increases in supply Every company would like
to be in this situation, unfortunately, it’s not easy to achieve Economies of scale arc
possible for companies which need a lot of money to set tip but much less money to

run.
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A telephone company is a good example. Telephone companies have to spend
millions of pounds laying cables. However, once they have made the network,
running the system does not cost so much. Any other company that wants to compete
will have to make their own network. Not surprisingly, not many bother!

However, the world of business is a jungle, and there are more aggressive ways
to create a monopoly. One of these is by making takeovers. This means that a more
powerful company buys a smaller one in the same industry. Takeovers happen
vertically or horizontally. In a vertical takeover, a company buys companies that
supply it with materials or services. For example, a publishing company might buy a
printing business. In a horizontal takeover, a company buys its competitors. The
competitors then become part of the first company.

One final way a monopoly occurs is for the government to make it happen. This
is called a legal monopoly, but not because other monopolies are illegal! It is called a
legal monopoly because it is created by law. The government may decide that a
competitive market is not good for a certain industry. In this case, it can make one
company the only legal supplier. Sometimes, it provides the service itself. This is
called a state monopoly. The postal service in many countries is an example of a state
monopoly.

Generally, monopolies are not good for consumers. This is because in a
monopoly, the laws of supply and demand do not work in the same way. A company
with a monopoly becomes a price maker. They have much more power to set the
price for their product or service. Also, they don’t usually spend money on innovation
because they don’t need to. The bottom line, as they say, is that monopolies mean

less choice for consumers.

E Comprehension

Now read the text again and match the phrases on the left with the definitions on
the right.

1 pure monopoly A a company with the power to set prices in the market
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2 natural monopoly B when a company buys a competitor

3 legal monopoly C when only one company supplies to the market

4 horizontal takeover D when a company buys a supplier

5 vertical takeover E when a monopoly occurs due to economies of scale
6 price maker F when a monopoly occurs due to government control

Before you listen
Discuss these questions with your partner.

What dangers might monopolies face?

F Listening

Now listen to someone talking about threats which face monopolies. Tick the things
in the list that are mentioned.

1 rising variable costs

2 afall indemand

3 achange in fixed costs

4 innovation by another company

5 takeover from a foreign company

G Speaking
Discuss these questions with your partner.
e Do you know any industries where a monopoly exists?

e What are the bone-fits or drawbacks of having a monopoly in that industry?

Task
Give a two-minute summary of what perfect competition is. First, read text 1 again
and make notes below on the following and then present the talk to your class.

e What is perfect and imperfect competition?

e What is needed to make perfect competition possible?
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e Why is it very difficult to create perfect competition?
H Writing
Answer this essay question: ‘What do economists mean by market structure? What
kinds of market structure exist? How do different market structures affect
consumers?’
Essay about market structure
Use this plan to help you
PARAGRAPH 1
Introduction. What is market structure?
Useful words and phrases:
compete, competition, market share, control over price
PARAGRAPH 2
Explain perfect rind imperfect competition.
Useful words and phrases:
company size, market share, perfect substitutes, perfect information, barriers,
access
PARAGRAPH 3
Explain monopolies.
Useful words and phrases:
pure monopolies, natural monopolies, economy of scale, takeover, legal
monopolies
PARAGRAPH 4
Say how market structure affects consumers
Useful words and phrases:
price makers and price takers, variety and consumer choice, quality
PARAGRAPH 5
Conclusion. Sum up in a few words what market structure is and how it affects
consumers.
Write 200-250 words
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UNIT 7
Before you read
Discuss these questions with your partner.
¢ In what situation(s) do you think a worker can ask for a lot of money?

¢ In what situation(s) can an employer pay less money to workers?

A Vocabulary

Match the words with the definitions.

1 take on A employees

2 obey B satisfaction or usefulness

3 utility C be able to buy

4 output D follow

5 compromise E amount produced in a certain time

6 productivity F employ more staff

7 afford G both sides give up something in order to agree
8 staff H what a company produces

Reading 1

The labour market

In many ways the relationship between employers and workers is similar to the
relationship between consumers and producers: workers offer a service (the labour
they provide), employers buy that service at a price they can afford (the wages they
pay). As you can see, it’s a kind of market. In economies, it’s called the labour
market.

In any market for products and services, consumers try to get the maximum
utility, or satisfaction, from their purchase. This is the same in the labour market.
What do companies want from their purchase of labour? What utility do they get?
The answer is increased output. Output is how much of the product or service the

company produces. If there is an increase in demand for their product, they will need
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to increase output. One way to do this (but not the only way) is to take on more staff.
Another is to ask staff they already have to work more hours. In both cases, the
company is buying more labour.

Just like any other market, the labour market obeys the laws of supply and
demand. The demand is the employers’ need for labour. Supply is tin labour workers
provide. Just like any other commodity, there is a relationship between price and
demand. As the price of labour increases, the demand decreases.

The suppliers in the labour market are workers, just like suppliers in other
markets, they want a higher price for greater supply. In other words, as supply of
labour increases, they want higher wages. The wage that workers get for their labour
Is a compromise between what they want and what companies will pay. This is the
point where the lines cross.

However, there can be shifts in demand. These shifts can cause the overall
demand for labour to increase or decrease at any wage rate. For example, if there is
an increase in the demand for the end product or service, there will be an overall
increase in demand for labour (the demand curve shifts to the right). However, if new
technology can replace workers, then there will lie an overall decrease in demand for
labour (the demand curve shifts to the left).

One more thing which affects demand for labour is workers’ productivity. The
productivity of a worker is how much they produce in a certain time. For example,
imagine that a worker makes ten pencils an hour one day, and only eight pencils an
hour the next day. This is a fall in productivity. When worker productivity falls,
companies will pay less for labour. They are also less likely to employ new workers.
B Comprehension
Now read the text again and complete the sentences below in your own words in the
space provided.

1 The labour market is similar to ..
2 Companies buy labour because they ...

3 Workers want higher...
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4 When the price of labour rises ...

5 Four things that cause a change in demand for labour are ...
Before you listen

Discuss this question with your partner.

What makes workers more or less productive?

C Listening
Now listen to someone talking about one thing which affects productivity: the law
of diminishing returns. Listen and chose the chart A, B, or C which best illustrates

this law.

Before you read
Discuss this question with your partner.
What would influence whether you want to work or not? Think about:

e wages e freetime e where job situated e health

D Vocabulary

Complete each sentence with a word or phrase from the box.

e balance e leisure e Influences e skills
e compensation e play a/an e role e substitution
e complex e rate e switch off
1. At the weekend everyone needs to relax and from school or work.
2. Employers important in the economy.
3 is what you receive if you are badly affected by something.
4 means replacing one thing with another.
5. Most people’s time is at the weekend and m the evenings.
6. It can be difficult to get the right between work and free time.
7. The money you can earn people’s choice of job.
8. Some economic problems are very . There is no easy solution.
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9. The hourly for this job is seven pounds an hour.

10. The ability to speak foreign languages is one of the needed
for this job.

Reading 2

Supply of labour

Why do people work? To make money, of course. However, nothing in
economics is ever that simple. The economist will ask a further question — how much
are people prepared to work? The answer to this question is much more complex.
Finding the right balance between work time and leisure time is one of the trade-offs
we have to make in life. The balance each person chooses depends on a number of
things.

First of all, there are natural limits. There are only 24 hours in a day, and we
can’t spend all of them working. Most people need eight hours sleep. That brings the
number of hours we can spend on work or leisure down to 16. None of us are robots,
so we all need some time to rest and switch off from work. This also brings down the
possible number of working hours.

Then, of course, money plays a role. The way money influences working hours,
though, is quite complicated. If can be separated into two effects: the income effect
and the substitution effect.

The income effect works like this: People’s time is a resource. If they give up
that resource for work, they need compensation. This is usually in the form of a wage
for hours worked. The more compensation they get for each hour worked, the less
they will need to work. People with higher rates of pay (wages) can afford to have
more leisure time than people on lower rates of pay

So far, so good. However, are people happy just sitting at home and enjoying
themselves? It depends on what they’ll lose. In other words, it depends on the
opportunity cost of not working. As the hourly rate for work increases, the cost of not
working also increases. This means that as the wage rate increases, people want to

work more hours. This is called the substitution effect. But the substitution effect also
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has a limit. Eventually, people will not work more hours, no matter how good the
compensation is.

A good wage rate clearly attracts more workers, and encourages them to work
longer hours. However, the strength of this relationship depends on how elastic the
labour supply is. Sometimes it is difficult for companies to find a certain kind of
worker. Perhaps there are not many people with the necessary skills. Or perhaps the
company is in a place where there are not many available workers. In these situations,
even if employers double the wage rate, they will only attract a small number of extra
workers. The labour supply is inelastic. In the opposite situation, when it is easy for

companies to find workers, the labour supply becomes elastic.

B Comprehension

Read the text again and choose the sentence which best summarises each
paragraph.

PARAGRAPH 1

A People generally spend equal amounts of time on work and leisure.
B People have to make compromises.

C People work in order to have leisure time.

PARAGRAPH 2

A There are only a limited number of hours available for working.

B Everyone works about 16 hours.

C People can only work up to 24 hours a day.

PARAGRAPH 3

A You have to work more hours to make more money.

B Earning a good wage allows you to spend less time working.

C Some people get paid in their leisure time.

PARAGRAPH 4

A If you work more, you earn more.

B If your wage is bad you will want to work more.
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C If your wage is good, you will want to work more.
PARAGRAPH 5

A Sometimes it’s hard to attract workers.

B Sometimes workers don’t want more money.

C Elastic labour markets are more common than inelastic labour markets.

Before you listen
Discuss these questions with your partner.
e Why are some jobs paid better than others?

e Why do some people get paid more than others for doing the same job?

F Listening

Now listen to someone answering these questions. You will hear four reasons for
differences in pay. What are they?

1

2
3
4

G Speaking
Discuss these questions with your partner.
e Do people only work for money?
e \What other motivation is there to work?
Task
Give a two-minute talk on how supply and demand work in the labour market.
First, read the texts again and make notes below on the following.
How is the labour market just like any other market?
e How is the labour market just like any other market?

e \What affects demand for labour?
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e What affects the supply of labour?

e What motivates people to work?
H Writing
You have seen this job advertised in a newspaper. Write a letter of application for
the job.

Required: Summer Camp Team Leader

We are looking for suitably qualified and experienced team loaders for cm summer
camps for young children (aged seven to twelve). Children come from all over
Europe to our camps and take part in a variety of outdoor activities (camping,
canoeing, climbing, trekking, etc).

Suitable candidates should have proven experience of working with this age group
and have the necessary skills and qualifications.

Send letters of application to:

Ms Gibson

Summer Fun Camps

Wayfield

Norfolk

England

Letter of application

Use these notes to help you.

PARAGRAPH 1

Say why you’re writing and where you saw the advertisement.
Useful words and phrases:
Dear Sir Madam. | am writing in response to your advertisement in... | would like
to apply for the post of...

PARAGRAPH 2

Summarise the suitable qualification you have for the job.
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Useful words and phrases:
As you can see from my CV ... | am a qualified ... instructor.
In addition, | hold certificates in . . I am a fluent / good speaker of ...
PARAGRAPH 3
Summarise the relevant experience you have.
Useful words and phrases:
Furthermore, | have the relevant experience you are looking for. For the last five
years | have ...
Two years ago | was ...
PARAGRAPH 4
Say why you would like the job.
Useful words and phrases:
There are a number of reasons why | would like to ...
firstly, secondly, thirdly, furthermore, what is more, I hope to gain, | enjoy

working with ... This will be an opportunity to . .

Say thank you and sign off:
| look forward to hearing from you soon. Yours faithfully, (your full name)

Write 100-150 words
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UNIT 8

Before you read

Discuss the following with your partner.

Look at the photos. Each photo shows something that an economy needs in order to
produce Talk with your partner about what the photos show and why each thing is

necessary for an economy.
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A Vocabulary

Choose the correct word.

1. All machines need maintenance / replacement so that they keep working well.

2. Scientists’ laboratories are usually full of packaging / apparatus for experiments.
3. When a machine gets very old you need to buy a maintenance / replacement.

4. It’s illogical / mental to take an umbrella out on a sunny day.



72

5. Plastic and cardboard are used a lot for the packaging / apparatus around products.
6. Some people enjoy doing illogical / mental activities like crosswords and board
games.
7. Wood that hasn’t been made into anything yet is called timber / crops.
8. A storage / warehouse is a large building for storing things.
9. The things that farmers grow in their fields are called timber / crops.
10. An industry that needs many workers is known as a factor / labour intensive
industry.
11. If you don’t need furniture or equipment for some time, you can put it into
storage / warehouse.
12. The price of a product is a factor / labour which influences our decision to buy it.
Reading 1

Factors of production

One morning you wake up with a great idea. You’ve thought of a product that
no one else has, and you’re certain there’s demand for it. But how will you turn your
idea into reality? First of all you’ll need raw materials to manufacture from —
probably oil and metal, hut also paper for packaging. You can’t produce it by
yourself, so you’ll need people to help you make it, package it and market it. Finally,
your staff will need a factory and machines to produce with. In short, you need the
factors of production: land, labour and capital.

The factors of production are the starting point for all economies. No economy
can exist without them. The most basic of the factors is land. When economists talk
about land, however, they don’t just mean space to build on or fields to grow crops.
Land means everything that nature provides and we can use for production. The land
factor includes raw materials like coal, metals, oil and timber. It also includes things
like water, fish and salt. So, although it seems illogical, land also means the sea!

The second factor is labour. Raw materials will just stay in the ground unless
people dig them out and do something with them. Similarly, factory machines will sit

doing nothing without people to operate them. Labour can mean the physical effort
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such as lilting, digging and building. This is called manual work. Labour also
includes mental work like thinking, writing, communicating and designing. Industries
that need many workers working long hours are called labour intensive industries.
However, the quality of labour is as important as the quantity. An educated, skilled
and tit workforce is more productive than an uneducated, unskilled and unhealthy
one. This characteristic of the labour factor is called human capital. Some countries
have large labour forces, but are poor in human capital because the economy lacks
education and health care.

The third factor is capital. Capital includes buildings such as factories for
production and warehouses for storage. It also includes the tools and equipment that
workers use in the manufacturing process. In heavy industries such as shipbuilding or
steel making, capital usually involves big machinery and mechanical equipment. In
high-tech industries, on the other hand, capital generally means computers and
complex laboratory apparatus. These days, industry tends to be more capital intensive
than labour intensive.

When companies make investments, they buy new capital. There are two types
of investment that companies need to make. The first is to buy new equipment so that
they can expand their production. This is called net investment. Net investment is
essential for economic growth. However, equipment gets old and needs repairing or
replacing. The money spent on this kind of maintenance is called replacement
investment.

Land, labour and capital are the three factors of production identified by Adam
Smith and the classical economists. However, more recent economists have identified
one more factor: entrepreneurship. This means people like you, with great business

ideas that set the economy in motion.

B Comprehension
Now read the text again and decide whether these statements are true or false.

1. Raw materials are the most important factor of production.
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2. The land factor includes all the raw materials that come from the land and the sea.
3. The most important tiling about the labour factor is the size of the labour force.
4. In modern economies, more labour is used than capital.

5. Net investment allows companies to increase their production.

6. Entrepreneurs are part of the labour factor.

Before you listen
Discuss the following with your partner.
Entrepreneurship is the fourth factor of production. Which things in the list below do

you think entrepreneurs bring to the economy?

C Listening
managing people
motivating people
finding solutions to problems

communicating with customers

1

2

3

4

5 inventing new products
6 finding new markets

7 making profits ___

8 organising things

9 takingrisks

Now listen and tick the things which are mentioned.

Before you read
Discuss the following with your partner.
Look at the workers in the picture:
e What kind of work are those people doing?

e How do you think they feel about it?
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e What advantages are there for the company in organising workers like this?

D Vocabulary

Complete each sentence with a word or phrase from the box.

e automatically e emotional e mindless e specialisation
e child rearing e fundamental ® Sew e take pride in
o dye e means e sloppy
1. of transport are the methods we use to get from one place to
another.
2. work is work that is not very good quality.
3. To make clothes you have to know how to the material together.
4. Having a means that you deal with one particular area of any
field.
5. You may visit a doctor if you have problems with your health.
6. Competition is to the idea of the free market.
7. People who their work do it very carefully and enjoy the results.

8. Mothers and fathers both have important roles to play in
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9. Some people regard factory work as a job but it isn’t

necessarily boring.

10. When you do something you do it without dunking.
11. When manufacturers clothes, they add colour.
Reading 2

Division of labour

Without the factors of production, companies cannot get started. To be
successful, however, they need to make good use of those resources. To make hest
use of labour, you need to organise it. The division of labour is one way to achieve
this.

Let’s take making shirts as an example. What do you need to do to make a shirt?
You need to design it, find the right material, cut the material sew the pieces together,
dye the shirt and sew on the buttons. One person working on their own could
probably do all these tasks. This is one way to organise labour. Another way is for a
number of workers to share the job. Each worker is responsible for one task in the
process. This is an example of the division of labour.

The division of labour isn’t a new idea. Even very early societies had some form
of labour specialization. For example, in some societies men were hunters and
gatherers of food, while women were responsible for child rearing. However, as
societies became industrialised, the division of labour increased, factories became the
main means of production, and each factory worker became responsible for smaller
and smaller stages in the process.

As each worker gets more and more experience at doing their particular task,
they get better and better at it. This should improve the quality of their work. With
smaller tasks to do, workers can do things automatically, without thinking about
them. This will speed up their productivity, and speed up the whole production

process. Finally, small tasks are easier to learn. As the division of labour increases,
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the amount of time needed to train each worker decreases. All of this means a more
efficient and productive workforce ... at least, in theory.

There is, however, a human factor to consider. Workers are not machines. Their
physical and emotional health has an impact on their productivity. Repeating the
same simple task over and over again is very boring. Bored workers can’t concentrate
easily, and their mistakes will reduce the quality of their output. In Addition, there is
the problem of ownership. Many workers take pride in their work. They don’t just
work for wages, but also because they get satisfaction from doing a good job or from
creating something useful or beautiful. If you only add buttons to shirt, you don’t feel
that the shirt is your work. You can’t take pride in a job that does not need skill to do.
In this situation, workers become careless and their work becomes sloppy. Overall,
this has a negative impact on productivity.

Thankfully, robots and machines can now do many of the mindless tasks that
factory workers used to do. Nevertheless, the theory of the division of labour is still

fundamental to all modern economies.

PARAGRAPH 1........... A The advantages of the division of labour
PARAGRAPH 2........... B Technology has replaced a lot of human labour
PARAGRAPH 3........... C Two ways to organise labour

PARAGRAPH 4 .......... D The disadvantages of the division of labour
PARAGRAPHS .......... E Division of labour in history

PARAGRAPHG .......... F Making best use of what’s available

Before you listen
Discuss the following with your partner.
Read through the questions and tell each other what you think the correct answer
might be.
1 When did Ford invent the Model T car?
A 1908 B 1918 C 1928
2 What was special about Ford’s cars?



A They were the first quick car.
B They were affordable.
C Most Americans had one.
3 How did Ford keep costs low?
A By using cheap materials.
B By organising his labour force.
C By timing workers.
4 What did Ford have in 1930?
A The largest labour force in the world.
B The fastest production line in the world.
C The largest factory in the world.
5 In his film Modern Times Charlie Chaplin ...
A was criticising the effects of mass production.
B focused on Ford’s factories.
C played a factory owner.
F Listening

Now listen and check your answers.

G Speaking

Discuss these questions with your partner.
e Do you think some division of labour is natural?
e Are some people better suited to some jobs than others?
e Do economies really need entrepreneurs?

Task

Work in groups of three. Talk about each of the items listed below. Make notes.

What factors of production are necessary?
What would be the best way to organise labour to produce the following items?
e acar

e a pencil

78
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e a portrait painted in oil paints
e anewspaper

¢ a high quality violin

H Writing
You are the production manager for a new manufacturing company. (You decide
what the company manufactures). The managing director has asked you to produce a
report on the following.
¢ the land, capital and labour resources which are required
¢ the best way to organise production
Business report
Use these notes to help you.
PARAGRAPH 1
Introduction.
What this report is about and who it is for.
PARAGRAPH 2
Raw materials required.
Equipment required.
Buildings and transport required.
PARAGRAPH 3
Labour force required (numbers).
Human capital issues (qualifications and skills expected / training required).
PARAGRAPH 4
Division of labour — how should labour be organised for production.
CONCLUSION
Say you hope to be successful if your suggestions (Sum up your points in a sentence)
are followed.
Write 200-250 words
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UNIT 9

Before you read

Discuss these questions with your partner.
e What is money?
e Can anything be used as money?

e Could stones and leaves be used instead of coins and notes?

A Vocabulary

Choose the correct word or phrase.

1. One reason why people buy gold is because it holds its value / is taken for granted.
2. When we buy things, we swap / represent money for goods.

3. Diamonds are valuable because they are so intrinsic / rare.

4. The dollar is the cash / currency of the USA.

5. When people barter / guarantee goods, they simply exchange one good for
another.

6. Banks will only lend to people who can barter / guarantee to pay back the loan.

7. Some shops won’t accept credit cards. They will only take cash / currency.

8. When something holds its value / is taken for granted people don’t think it has
great value.

9. Coins and notes are used to swap / represent value.

10. Metals have intrinsic / rare value because they can be used to make things.

11. If money can easily be moved around and used we say it has liquidity / currency.
12. Centuries ago people paid using commodity money / fiat money, such as gold and
silver.

13. Commodity money / Fiat money like banknotes and coins, has no intrinsic value.

It only represents value.

Reading 1
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Money

The cash we use every day is something we take for granted, but for thousands
of years people trailed without it. Before money was invented, people used a system
called bartering. Bartering is simply swapping one good for another. Imagine that
you have milk, for example, and you want eggs. You simply find someone who has
eggs and wants milk — and you swap! However, you can set that this isn’t a very
convenient way to trade.

First of all, you can’t he sure that anyone will want what you’ve got to offer.
You have to hope that you’ll be lucky and find someone who has what you want and
that he or she wants what you’ve got. The second problem with bartering is that many
goods don’t hold their value. For example, you can’t keep your milk for a few months
and then barter it. Nobody will want it!

After some time, people realised that some goods held their value and were easy
to carry around and to trade with. Examples were metals like copper, bronze and gold
and other useful goods like salt. These are examples of commodity money. With
commodity money, the thing used for buying goods has inherent value. For example,
gold has inherent value because it is rare, beautiful and useful. Salt has inherent value
because it makes food tasty. If you could buy things with a bag of salt, it meant you
could keep a store of salt and buy things anytime you needed them, in other words,
commaodity money can store value.

Using commodity money was much more convenient than ordinary bartering,
but it still had drawbacks. One of these drawbacks is that commodity money often
lacks liquidity. Liquidity refers to how easily money can circulate. There is obviously
a limit in how much salt you can carry around. There’s another problem with
commodity money not everyone may agree on the value of the commodity which is
used as money. If you live by the sea, salt may not be so valuable to you. Money
needs to be a good unit of account. In other words, everyone should know and agree
on the value of a unit. This way, money can be used to measure the value of other

things.
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The solution is to create a kind of money that does not have any real intrinsic

value, but that represents value. This is called fiat money. The coins and notes that

we use today are an example of fiat money. Notes don’t have any inherent value —

they are just paper. However, everyone agrees that they are worth something. More

importantly, their value is guaranteed by the government. This is the reason why

pounds and dollars and the world’s other currencies have value.

B Comprehension

Complete the table with information from the text.

Examples Advantages Disadvantages
Bartering swapping eggs for | simple to [ not 1) way to
milk understand trade
goods don’t 2)
Commodity | 3) and | allows you to store | not 6) agrees
Money 4) 5) on its value
lack of liquidity means
money can’t 7)
easily
Fiat Money | 8) and | value is
9) 10) by

the government

Before you listen

Discuss the following with your partner.

You’re going to listen to someone talking about the history of money. Before you

listen, read through the statements below. Do you think they are true or false?

1. The earliest kind of money was used about 3.000 years ago.

2. Shells were used as a kind of fiat money.

3. The first metal coins appeared in Greece.
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4. The first coins were round.
5. Paper money first appeared in China.

6. The idea of paper money travelled quickly to Europe.

C Listening

Now listen and check your answers

Before you read

Discuss the following with your partner.

What do banks do? Work with a partner to make a list of all the services that banks

provide. Then compare your list with others in the class.

D Vocabulary

Complete each sentence with a word or phrase from the box.

e accessible e deposit e security e transfer
e ATM e make a living e sensible e withdrawal
e compensate e reliable

1. As against possible burglaries, they installed alarms.

2. Some people aren’t very with their money and they waste it on

useless things.

3. If you are injured at work, you may get money to for losing your
salary.

4. If something is you can trust it to work properly.

5. things are easy to reach or to get.

6. When you things you move them from one place to another.

7. An IS @ machine that gives customers money when the bank is
closed.

8. Most people have to work m order to

9. When you make a you put money into your account.

10. When you make a you take money out of your account.
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Reading 2
Banks

If you work, you’ve probably got a bank account. You could keep the money
you earn each month in a box under your bed, but it wouldn’t be very sensible. One
reason is that it’s not very safe. If your house gets burgled, you’ll lose everything
you’ve saved. Another reason is that your money will lose value.

As prices rise, the money in a box under your bed will be able to buy fewer and
fewer things. Money in a bank savings account, however, will earn interest. The
interest will help compensate for the effect of inflation, but banks are more than just
sale places for your money. What other services do they offer?

The other main service is lending money. Individuals and businesses often need
to borrow money, and they need a lender that they can trust. This is exactly what
banks are — reliable lenders. In fact, most of the money that people deposit in their
bank accounts is immediately lent out to someone else.

Apart from storing and lending money, banks offer other financial services.
Most of these are ways of making money more accessible to customers. For example,
banks help people transfer money securely. They give customers cheque books and
credit cards to use instead of cash. They provide ATM machines so that people can
get cash any time of the day or night.

But how do banks make a living? Basically, they make a living by charging
interest on loans. Of course, when you make a deposit into a bank savings account,
the bank pays you interest on that money. However, the rate they pay savers is less
than the rate they charge borrowers. The extra money they make by charging interest
on loans is where banks earn most of their money.

For banks, interest is also a kind of security. Sometimes people do not pay back
money they borrow. This is called defaulting on a loan. When someone defaults on a
loan, the bank uses money earned from interest to cover the loss.

All of this means that most of the money people have saved in the bank is not

there at all! A small amount of the total savings is kept by the bank so that customers
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can make withdrawals. The rest, however, is made available for loans. The amount
that is kept is called the reserve. The reserve must be a certain percentage of all the
savings received from customers — for example 20 per cent. This figure is set by the
central bank, and this is one of the ways that governments can control the amount of

money circulating in the economy.

E Comprehension

Now read the text again and answer these questions in your own words in the space
provided below.

1. What two reasons are given for saving your money in a bank account?

2. Why do people prefer to borrow money from banks?

3. Do banks do anything else for their customers other than store and lend money?

4. How do banks earn money?

5. Who decides how much money the bank keeps in reserve?

Before you listen

Discuss these questions with your partner.

If a bank note is not real, we call it a take or counterfeit note.
e How do you know if a banknote is real or not?

e What can banks do to make people trust their notes and coins?

F Listening
Look at these notes about whether a ten-pound note is genuine or not and see if
you can guess what goes in the gaps.

Paper is very (1)

The words (2) are raised from the paper.

There should be a strip of (3) in the middle of the note.

There is a watermark of the (4)
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There is a hologram which shows a picture of Britannia, who was a (5)

and the (6)
With a magnifying glass you can see the word (7) written in tiny
microlettering.
If you put the note under fluorescent light, a bright (8) number

ten will appear.

Now listen and check your answers
G Speaking
Discuss these questions with your partner.
e Can you imagine life without money?
e What are the dangers of using a credit card to pay with instead of money?
e What do you know about digital money?
Task
Give a two-minute presentation on the history of money. First, read through text 1
again and make notes below on the following.
e Dartering
e commodity money
e fiat money
You can also include recent developments not mentioned in the text, such as credit

cards and digital money.

H Writing

Write a promotional leaflet for a bank. The aim of the leaflet is to attract new
customers and to inform existing customers about the services the bank offers.

Use an informal, friendly style like you see in advertisements. Organise the leaflet
using the plan shown here.

Promotional leaflet

PARAGRAPH 1
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Give a brief history of the bank and say how big it is today (to give confidence to
customers).

PARAGRAPH 2

Explain what your main services are. And what advantages you offer compared to
other banks (for example, interest rates).

PARAGRAPH 3

Say what other services you offer and how they can be useful to your customers: for
example, special savings schemes for certain people (students / pension schemes for
workers) and Internet banking.

PARAGRAPH 4

Say how customers (or potential customers) can contact the bank (e-mail, web page,
phone number, local branches, etc).

Write 200-250 words
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UNIT 10

Before you read

Discuss these questions with your partner.
e What taxes do people pay in your country?
o Are the taxes fair? Why / Why not?

A Vocabulary
Choose the correct answer A. B or C from the list opposite.

1. The department of the government looks after roads, railways

and airports.

2. The government hopes its will help reduce unemployment.

3. The parts that something is made of are sometimes called

4, employment is when everyone who can work has a job.

5. The money that you have after you’ve paid taxes is called your

income.

6. The part of a person’s salary that is not taxed is called their personal

7. The government plans many new projects, such as building new

hospitals and schools.

8. Another word for extra goods that are not needed is

9. When the economy is working at full , 1t is using all us

resources for production.

10. A Is a large, fast road which connects cities.
11. A Is a plan for achieving something.
12. In a tax system, people who earn more pay more tax than

people who earn less.
1 A transport B education C defence
2 A components B allowance C policy

3 A income B components C capacity
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4 A absolute B complete C full

5A full B disposable C spending
6 A allowance B surplus C capacity
7 A personal B public C disposable
8 A surplus B shortage C allowance
9 A employment B income C capacity
10 A path B motorway C railway
11 A component B project C scheme
12 A surplus B progressive C public
Reading 1

Fiscal policy

As we saw in unit 9, fiscal policy is one of the tools that governments have to
keep the economy on a steady path. The two main components of fiscal policy are
changes to the tax system and changes in government spending. But what changes
can governments make in these two areas, and how do changes affect the growth of
the economy?

Let s look first at the tax system, and in particular at income tax. Income tax is
one of the biggest sources of income for a government. Many governments operate a
system called progressive taxation. This means that the more you earn, the more tax
you pay. People are usually allowed to keep some of their income without paying any
tax. This is called the personal allowance. The rest of their income is then taxed
using the progressive system.

Governments can decide to change the size of the personal allowance, or change
the percentage that each income group has to pay. If the economy is growing too fast,
and demand for goods and services is more than the economy can supply, the
government will want to slow down spending.

To do this, they can decrease the personal allowance, or they can increase the

percentage to pay in tax. This will mean people have less disposable income, and
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spending will slow down. If the economy is slowing down too much, governments
can do the opposite.

What about government spending? How does that affect economic growth? The
key to this is something called the multiplier effect. To understand how this works,
let’s look at an example. Imagine that the economy is not growing. This will make
aggregate demand fall. In turn, productivity falls. This situation means that the
nation’s resources are not all being used. In other words, there are surplus raw
materials, machines are not being used and workers are unemployed. What the
economy needs is a pull in demand for goods and services.

The government can provide this pull by spending a large amount of money on
public projects. For example, imagine that the transport department decides to spend
£200 million on building a new motorway. This will give work to building companies
and jobs to unemployed workers. In other words, more resources are being used and
the nation’s productivity is increased.

Companies and workers on the motorway project will save some of the money
they earn, but also spend some. The money they spend will be income for others in
the economy. If half of the £200 million is spent, then the total national income has
grown by this much:

£200 million + (0.5 x £200 million)

Each time a proportion of the income is passed on, the economy grows again:

£200 million + (0.5 x £200 million) + (0.5 x £100 million), etc.

In theory, the multiplier effect will continue until there is full employment and

the nation’s resources are being used to their fullest extent.

B Comprehension

Now read the text again and answer these questions in your own words.
e What are the two tools of fiscal policy?
e What is someone’s personal allowance?

e What will the government do to taxes if the economy is slowing down?
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e How can the government create more demand in the economy?
e When does the multiplier effect stop working?
Before you listen
Discuss these questions with your partner.
e What do you think makes a good tax?
e Which four things listed below do you think are the most important?
It's easy to collect.
It's paid often.
It's easy to understand.

It’s not paid too often.

1

2

3

4

5 It’s alow percentage of income.
6 It’s easy to pay.

7 It’sfair.

8

It’s large enough for the government to use.

C Listening
Now listen to someone talking about Adam Smith’s four rules for good taxation.

Which four ideas from the list above are mentioned?

Before you read
Discuss the following with your partner.
Sometimes people feel like spending money. Other times they prefer to save their

money. Why is this?

D Vocabulary

Complete each sentence with a word or phrase from the box.

e central bank e commercial banks e confident e credit
e proportion e exchange rate e frequently e impact

e repayments e mortgage e expand
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1. We have to pay our bills too in my opinion!

2. A country’s Is the government bank.

3. The are the high street banks that everyone uses.

4. When a loan is taken out, usually each month have to be made.
5 A Is a special loan for people who want to buy a house.

6. When you feel you fool sure that what you are doing is safe.

7. Many people these days buy things on instead of paying in cash.
8. A large of people use banks to deposit their savings.

9. The compares the values of different currencies.

10. If a company wants to , to move into new markets for example,

it will need to borrow money.

11. High interest rates have an on the consumer’s ability to buy a

new home.
Reading 2
Monetary policy

Monetary policy is another tool that governments use to control the economy.
Monetary policy mainly involves making changes to the interest rate. It can also
involve changing the amount of money that circulates round the economy. However,
this second kind of monetary policy isn’t used very often because it can lead to
inflation. Changing interest rates, on the other hand, is a method that is used quite
frequently for slowing down or speeding up the economy. So how does it work?

Basically, commercial hanks the ones that you and | use to keep our savings in
and to borrow from — borrow their money from the country’s central bank. This is the
national or government bank, and it has the power to set interest rates. The interest
rate of the central bank will influence the rates commercial banks set for their
customers. When interest rates go up, borrowing money becomes more expensive.
When they go down, it becomes cheaper.

People get loans from banks for all sorts of reasons, but the biggest loan most

people take out is to buy a house. This kind of loan is called a mortgage. When
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interest rates increase, mortgages become more expensive. People who already have a
mortgage will need to pay more on their repayments, and will have less money to
spend on other things, f ewer people will want to buy new houses and house prices
will fall. In turn, home owners will feel less confident about their own wealth and
will spend less. As a result, the economy slows down. A fall in interest rates will have
the opposite effect on the house buying chain.

Consumers also buy other things using borrowed money. This is called buying
on credit, and interest rates will also affect how much people spend on credit.
Purchases made using credit cards are now a huge proportion of total spending in
many countries. This means that interest rate changes have a big impact on consumer
spending and the economy as a whole.

Companies, too, are affected by interest rate changes. When interest rates are
low, they feel more confident about investing in order to expand their business. Low
interest rates will encourage them to take out loans in order to build factories, buy
machines and increase production. All of this increases the size of national output.
Again, higher interest rates will have the opposite effect.

Finally, interest rates can have an effect on the amount of exports a country
sells. This is because the value of a currency (the exchange rate) often falls when the
interest rate falls. When the value of a currency falls, a nation’s products and services
become cheaper for customers from other countries. This increases export sales, and
more money comes into the economy. And, of course, a rise in interest rates will
mean a rise in the exchange rate. This will reduce export sales, and reduce the total

output of the economy.

E Comprehension
Now read the text again and choose the sentence which best summarises each
paragraph.
PARAGRAPH 1
A Changing interest rates is the most common type of monetary policy.
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B Governments never change the amount of money circulating in the economy.
C Changing interest rates increases the amount of money in the economy.
PARAGRAPH 2
A The commercial banks set exactly the same interest rate as the central bank.
B The central bank controls all other commercial banks.
C The central bank influences the interest rates of other banks.
PARAGRAPH 3
A High interest rates are good for the housing market.
B Mortgages are the most common type of loan.
C High interest rates are bad for the housing market.
PARAGRAPH 4
A Interest rates influence consumer spending.
B In every country the proportion of credit card holders is high.
C Most people borrow money with their credit card.
PARAGRAPH 5
A Businesses invest more when interest rates are low.
B National output drops when interest rates are low.
C Business investment is not affected by interest rates.
PARAGRAPH 6
A How much a country exports affects the interest rate.
B The interest rate can affect exports.

C Arrise in exports reduces the total national income.

Before you listen
Discuss the following with your partner.
Every solution to a problem has its drawbacks. What do you think are the
disadvantages of fiscal and monetary policy? Think about:
e changes in people’s beehavior

¢ length of time policies need to take effect
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F Listening
Now listen and choose the best way to complete each sentence.
1. One problem with macroeconomic policy is that...
A people never do what you want.
B you can never be sure how people will act.
C you can’t stop people spending.
2. An increase in government spending may make people ...
A spend more.
B work harder.
C save more.
3. Another problem with macroeconomic policy is that...
A it costs money.
B it takes time.

C it almost never works.

G Speaking
Discuss these questions with your partner.
e Do you believe people really think about the interest rate when they decide to
save or spend money?
e What affect do you think taxes have on the way people work?
Task
Give a two-minute talk on monetary policy. First read through text 2 again and make
notes below about the following.
¢ the tools of monetary policy that the government can use
e how interest rates affect...
- house buying
- consumer spending

- business investment exports
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H Writing
Imagine you run a business which has customers at home and abroad. Things are
going well, and to make things better, the government has just announced a drop in
interest rates. This is a good time to get a loan and invest in your business. Write a
letter to your bank manager asking for a business loan.
Formal letter
Use this plan to help you.
INTRODUCTION
Dear Mr/Mrs/Miss (give a name].
Say briefly why you’re writing.
Useful words and phrases:
| am writing to request... | would be grateful if you could ...
PARAGRAPH 1
Explain what your business is. Say how much you want to borrow.
Useful words and phrases:
| runa ... company which ... | would like to borrow approximately ...
PARAGRAPH 2
Explain why now is a good time to expand: (increasing sales / interest rate cut and its
effect on the economy).
Useful words and phrases:
The reason why ... | believe this is the right time because ...
It would be sensible to take advantage of...
PARAGRAPH 3
Say how you will spend the money.
Useful words and phrases:
| intend to spend the money as follows ... The majority of the money will be
needed for ... In addition, some of the funds will be spent on . .
PARAGRAPH 4
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Ask for details about the loan: How long can you borrow for? What will the interest
rate be?

Useful words and phrases:

Could you tell me how ... 1 would be grateful if you could let me know ...
CONCLUSION
Sign off politely

Useful words and phrases:

| look forward to hearing from you soon ... Yours sincerely,
Write about 200 words
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Before you read
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Discuss these questions with your partner.

e Why do banks charge interest on loans?

e Why do banks pay interest on savings?

e How often do interest rates change?

e Why do you think they change?

A Vocabulary

Match the words and phrases with the definitions.

purse
cash till

form

willing

a plus

target

reserve account

to ensure

© 00 N O O B~ W N

shortage
10 obliged
11 state

12 securities

Reading 1

A when there is not enough of something
B where a store of bank’s money is kept
C to make sure

D an advantage

E hasto

F prepared to do

G say formally

H place in shop where money is kept

| kind (of)

J something you aim to achieve

K away to invest money by lending it to the government

L asmall bag to keep money in

Interest rates and the money market

Economic growth is a plus, but, like all good things, it’s host not to have too

much at once. If the economy grows too rapidly, the result can he inflation. Steady

growth is best, and governments use fiscal and monetary policy tools to achieve this.

For example, they set interest rates in order to control borrowing and investment.
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However, the government can’t just state, ‘today’s interest rate is four per cent’ and
expect all the other banks to follow. As usual, things are a bit more complicated!

The interest rate is not really set by the government at all, but by the levels of
demand and supply of money in the money market. Imagine that money is like any
other commodity, and the price of money is the interest rate. Banks can charge any
interest rate that customers are willing to pay. If there is a limited amount of money
available, the suppliers (the banks) will charge a higher price (the interest rate) as
demand for money increases. Demand comes from the public who want to spend
money to buy things and from businesses who want to invest money in order to grow.
Just like other commodities, demand for money will fall as the price (interest rate)
rises. The interest rate will be set by the market. It will be where the demand and
supply curves meet the equilibrium paint. You can see this relationship shown in
figure 1 on page 7S

Also, just like other markets, there can be shifts in the demand and supply
curves. When shifts happen, the equilibrium point (the interest rate that is set)
changes. This new interest rate may be above or below the government’s target. What
can they do about it? One thing they can do is to influence the supply of money in the
market.

What exactly is the money supply and how can the government influence it?
Obviously, the money supply includes all the notes and coins in purses, pockets and
cash tills. Some of this money will be money that has been borrowed from banks, so
loans form part of the money supply too. The supply also includes money that people
and companies have in bank accounts, and the money that banks have in their reserve
accounts in the central government bank.

Remember that banks lend most of the money that customers deposit. When
customers want to make withdrawals, the bank takes cash from its reserve account
with the central government bank. If the commercial bank has a shortage of cash in
Its reserve account, it is obliged to borrow from the central bank. When a commercial

bank borrows from the central bank, it must borrow at the government’s rate of
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interest. This is how the government can influence the interest rate equilibrium point
of the market.

However, the government needs to ensure that at the end of each day the
commercial banks have a shortage of cash. And, of course, they have ways of doing
this.

B Comprehension
Now read the text again and decide whether these statements are true or false.

1. When the government sets interest rates, commercial banks must set the same rate.

2. Interest is the price of money.

3. As interest rates increase, demand for money falls.

4. The money supply is only all the notes and coins that are in circulation.
5. Banks lend money, but they never borrow money.

6. At the end of each day banks usually have less money than they need.

Before you listen
Discuss the following with your partner.
Read the summary which explains what open market operations are. Try to complete

the gaps with words from the box.

e borrow e decreases e lend

e reserve e selling e shortages (x2)
The government can create (1) of money for commercial banks by
(2) securities. Securities are a way to (3) money

to the government at an agreed rate of interest. This is what is known as open market

operations. When people buy securities the money supply (4) . This

causes (5) in the commercial banks' (6)

accounts, so they have to (7) money from the central bank.
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C Listening
Now you’re going to hear someone talking about open market operations. Listen

and check your answers

Before you read

Discuss these questions with your partner.
e Economists sometimes talk about economic shocks.
e What do you think this might mean?

e What might cause a shock to the economy?

D Vocabulary

Complete each sentence with a word or phrase from the box.

e disrupt e goon strike e stagflation
e miner e gross national product e unrest
e sharply e knock-on effect

1. The total value of a country's goods rind services consumed in one year is called
the

2. If something done affects something else, which then again affects something else,

we call this a

3. If people are not happy with their government, there may be political

4. Being a and digging underground to bring out minerals, must

be very dangerous.

5. Some people as a way of showing their unhappiness with

work conditions or pay.

6. If we have there is a sharp drop in production of some goods

causing their price to rise.

7. A fallen tree can the electricity supply to thousands of homes.

8. Prices have risen but unfortunately wages haven’t.
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Reading 2
Economic shocks

Governments try their best to control economic growth, hut there are some
things that nobody can control. For example war, political unrest in another country
or simply a change in the weather can all affect an economy in unexpected ways.
Sometimes the effect of these events will cause a sudden shift in aggregate demand or
aggregate supply. This is an economic shock.

The causes of demand-side shocks may be events in the local economy
(domestic demand) or events abroad external demand). An example of domestic
demand was when house prices in the UK dropped suddenly in the late 1980s.
Because a home is one of the largest assets most people have, homeowners suddenly
felt that they were not as wealthy as they had been. As a result, people started to
spend less. This had a knock-on effect on the rest of the economy. Aggregate demand
fell sharply and the gross national product fell with it.

External demand-side shocks happen when a country relies heavily on exports
or on foreign investment. The Great Depression in the 1930s is a classic example of
this. At the time of the Great Depression, many countries exported their goods to the
USA, and many other countries relied on American money for investments to help
their industries grow. When the American economy collapsed, it had disastrous
effects for other economies, too.

Supply-side shocks occur when the supply of goods is disrupted. If the
commodity is an important raw material for many industries, then the supply from
these industries will drop dramatically. When raw materials are in short supply, they
become more expensive. This will cause an increase in manufacturers' variable costs.
Manufacturers will then have to increase their prices. Imagine, for example, that
miners in the iron industry went on strike. The supply of iron and steel to
manufacturers would be disrupted. This would mean a drop in supply of all sorts of

goods, from teaspoons to aeroplanes. The sudden drop in supply will cause a shift in
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the supply curve. As a result, prices rise even though aggregate demand stays the
same. This unfortunate situation is called stagflation.

The good news, however, is that sometimes positive supply-side shocks happen.
These occur when there is a sudden increase in supply while demand stays the same.
This can happen when new technology makes the production of materials or products

much easier or more efficient. The result - prices fall and output grows.

E Comprehension
Now read the text again and choose the best way to finish each sentence.
1. An economic shock causes ...
A prices to rise.
B a demand or supply shift.
C demand to fall.
2. Demand-side shocks of a domestic nature ...
A are caused by events in another country.
B are only caused because of a fall in property prices.
C are caused by events at home.
3. The Great Depression is an example of ...
A an external demand-side shock.
B an external supply-side shock.
C a domestic demand-side shock.
4. Supply-side shocks can cause ...
A afall invariable costs.
B an increase in variable costs.
C afall in fixed costs.
5. Stagflation is when ...
A prices fall but output rises.
B prices rise and output rises.

C prices rise and output falls.
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6. A positive supply-side shock is when ...
A prices fall but output rises.
B prices rise and output rises.

C prices rise and output falls.

Before you listen
Discuss the following with your partner.
An embargo happens when a country stops trading with another. In 1973, there was

an embargo on oil. What effects do you think this had on the world's economies?

F Listening
Now listen and complete the notes.

1. After industrial nations enjoyed economic growth.

2. They used huge amounts of

3. A lot of oil came from countries m the

4. The embargo began on the 1973.
5. Prices of oil rose to times higher than before.
6. The New York Stock Exchange lost dollars in a few weeks.

7. The embargo ended in

G Speaking
Work in groups of three or four. Discuss the effects that these events might have on
the economy in your country. Use phrases to describe economic shocks as seen in
text 2.

e coal miners go on strike

e large amounts of oil and gas are discovered in Australia

¢ the government provides a free Internet service to anyone who wants it

e the interest rate doubles in just a few weeks
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H Writing

Write an essay describing how interest rates are set in the money market. First read
through text 1 again and make notes. Then use the plan to help you organise your
essay.

Essay

INTRODUCTION

What are interest rates and why are they important for the economy?

PARAGRAPH 1

What does the money supply consist of? What is demand and supply m the money
market?

PARAGRAPH 2

How is the interest rate set by the money market?

PARAGRAPH 3

How does the government try to influence the interest rate?

CONCLUSION

Sum up in a couple of sentences what you have said in paragraphs one to three.

Write 200-250 words
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UNIT 12

Before you read

Discuss these questions with your partner.

Inflation is the rising cost in prices over time.
e Does your country suffer from inflation?
e Why do you think this is?

A Vocabulary
Choose the correct word.
1. When something is in the headlines / articles, it is an important story in the news.
2. When parents are unemployed it is difficult for a family to make ends touch / meet.
3. The cost / price of living in cities like London and Tokyo is very high.
4. People prefer to shop in supermarkets because they find a wide range / amount
of goods there.
5. The retail / shopping industry includes shops, supermarkets and department stores.
6. In statistics, when a number is valued / weighted it is multiplied by another number
to show its importance.
7. The victim / culprit is the person or thing that is responsible for doing something
bad.
8. It is difficult for old people to manage / cope with living on a small pension.
9. In maths, a/an equation / formula is a sum which is equal on both sides.
10. The speed that something travels at is called velocity / capacity.
Reading 1
Inflation

Inflation is an overall increase in prices over a certain period of time. It's also a
worry for anybody who's trying to make ends meet, and a headache for many
governments. The rate of inflation is often in the headlines. However, inflation isn't

really news. In most of Europe, for example, prices have risen year after year for at
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least the last 50 years. Deflation (overall decrease in prices) does happen
occasionally, but the trend is mostly for the cost of living to increase.

There are lots of ways to measure inflation. One of the most popular ways is the
retail price index. This is calculated by recording increases in price for a range of
goods and services. This is sometimes called a basket of goods. Some of the goods
are weighted more heavily than others because they are more important .For example,
food will be weighted more than the cost of a cinema ticket, because a 5% increase in
food is more important than a 10% increase in the cost of seeing a film. Inflation is
worked out from an average of all the price increases in the basket.

Inflation can happen for a number of reasons, but economists say there are two
main culprits. These are demand-pull inflation and cost-push inflation. Demand-pull
inflation can happen when tin- economy is growing last. Aggregate demand begins to
grow faster than suppliers can cope with. This causes a shortage, and prices rise. At
first, customers may be able to pay the higher prices, and demand grows again. This
forces prices up even more, and the cycle continues.

One of the characteristics of demand-pull inflation is that there is often too much
money going round the economy. This is explained by the quantity theory of money.
This theory uses the following equation:

money supply x velocity = average price x transactions

Velocity is the speed that money is passed on from one person to another. Some
economists say that velocity and the number of transactions don't really change. The
only things that change in this equation are the money supply and average prices.
This means that when the money supply increases, prices will increase too. For this
reason, printing money is rarely a solution for economic crises.

Cost-push inflation, on the other hand, occurs when prices rise without an
increase in demand. This happens when suppliers' variable costs increase sharply. For
example, workers may demand higher wages or raw materials may become more
expensive. Producers then pass these increases on to consumers by raising prices. So,

as usual, we are the ones who pay!
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B Comprehension

Now read the text again and match each paragraph with the correct heading.

PARAGRAPH 1 ......... A Measuring inflation

PARAGRAPH 2.......... B Too much cash

PARAGRAPH 3.......... C The effects of aggregate demand on inflation
PARAGRAPH 4.......... D Production cost changes
PARAGRAPHS........... E Inflation is a fact of life

Before you listen

Discuss the following with your partner.

High inflation affects the whole economy in different ways. How do you think
inflation affects the people and organisations listed below? Try to match the people

and organisations 1-4 with the effects A-D.

1 people on a fixed income A lose money on loans

2 banks B can't get investment

3 businesses C are not so competitive

4 exporters D can't buy as much with their money
C Listening

Now listen and check your answers.

Before you read

Discuss these questions with your partner.
e Look at the photo and answer these questions:
e \What are these people doing?
e How do you think they feel? Why?

e Why do you suppose they are in this situation?
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D Vocabulary

Complete each sentence with a word or phrase from the box.

e can't be bothered o freelance e obsolete e retrain
e contracts e mobility e region e shipyard
o relocates e tastes

1. People's in clothes change with fashion and with then age.
2. Ifyou to do something, you just don't feel like doing it.
3. When something it gets smaller.
4. A Is an area of a country.
5. When a company to another part of the country or abroad,

many workers lose their jobs.
6. workers are not employees for a company, but are self-employed.

7. If something is it no longer exists because it isn't needed anymore.

8. If you lose your job due to mechanisation, you may have to go to college and

for something else.

9.A Is where ships are built.

10. Your Is your ability to move from one place to another.
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Reading 2
Unemployment

There will always be a certain amount of unemployment in the economy. When
economists talk about full employment they mean that everyone who can work and
wants to work has got a job. Able workers who are not working are simply not happy
with the salaries that are offered - or just can't be bothered!

However, economies rarely reach full employment. There are a number of
reasons for this, and a number of different types of unemployment. One of these is
cyclical unemployment. This type of unemployment varies with the growth and
recession cycle of the economy. As the economy grows, demand for labour grows
and unemployment falls. As the economy contracts, unemployment grows.

A second kind of unemployment is structural unemployment. This occurs when
changing public tastes or advances in technology cause a fall in demand for some
types of work. For example, computer technology has revolutionised the printing
industry, and many traditional printers' jobs have become obsolete. Sometimes whole
regions of a country suffer from high structural unemployment. The north-east of
England, for example, was famous for many years for its shipbuilding industry.
Competition from abroad forced many shipyards to close. This caused huge
unemployment in the region.

How long structural unemployment lasts will depend on two things. Firstly, how
easily the workforce can retrain for new jobs. This may be difficult for older workers
who find it hard to learn new skills. There is also the question of who pays for the
training. The second issue is mobility. Workers who are able to relocate easily to
another part of the country will find new jobs more quickly.

There are two other kinds of unemployment which we should mention here.
These are less serious, perhaps, but they are still difficult for governments to get rid
of. The first is frictional unemployment. This is a natural kind of unemployment that
occurs when someone leaves a job and is looking for another one that suits them.

Frictional unemployment often happens because people want to leave their job in
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order to change careers. Few people walk straight into another job. However, when
the economy is in recession, frictional unemployment will be more common because
jobs are harder to find.

The second kind is seasonal unemployment. Some industries have busy periods
and periods where there is no work at all. Some freelance farm workers, for example,
get most of their work in the spring and summer. Like structural unemployment,
seasonal unemployment can affect whole regions of a country. Areas that rely on
summer tourism, for example, suffer serious unemployment during the autumn and

winter months.

E Comprehension
Now read the text again and choose the best answer or answers for each question.
1. Which kind of unemployment happens regularly every year?
A cyclical unemployment
B structural unemployment
C frictional unemployment
D seasonal unemployment
2. Which kind of unemployment happens because of advances in technology?
A cyclical unemployment
B structural unemployment
C frictional unemployment
D seasonal unemployment
3. Which kind of unemployment may happen because someone wants it?
A cyclical unemployment
B structural unemployment
C frictional unemployment
D seasonal unemployment
4. Which kind of unemployment happens because of changes in economic growth?

A cyclical unemployment
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B structural unemployment

C frictional unemployment

D seasonal unemployment

5. Which kind of unemployment happens in particular parts of the country? (2

answers)

A cyclical unemployment

B structural unemployment

C frictional unemployment

D seasonal unemployment

Before you listen

Discuss these questions with your partner.

The chart below shows the trends in unemployment in two countries. Look at the

chart, and answer these questions.

What does the vertical axis show?
What does the horizontal axis show?
What two countries are shown?
How many years are shown?

Are there any similarities between the curves for the two countries?

F Listening

Now listen and write the correct percentages on the chart. The first answer has been

done for you.

Unemployment in Germany and the USA 1995-2005
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G Speaking

Discuss these questions with your partner.
¢ Isinflation a problem in your country? Why / Why not?
e How does unemployment affect people psychologically?
e What kind(s) of unemployment do you think affect the area where you live?
e Can you talk about the history of unemployment in your country since the 70s
like the diagram in exercise F listening.

Task
Work in groups of three or four. Imagine you and your friends are running the

country. Things are not going well! Here are some of your problems.

e unemployment is high (12%)

¢ the rate of inflation is also high

e workers are going on strike for higher wages

e your large steel industry is losing money because of foreign competition
Talk to each other and decide which of those problems is the most important. Then
decide what you can do to make things better. In your discussion think about:

e retraining / relocation of workers

e cost-push inflation

e the money supply
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H Writing

Imagine you are a shipyard worker who has just become unemployed because the
government has decided to close down the shipyards. Write a letter to a friend
explaining what's happened and how you feel about it.

Informal letter

Use this plan to help you.

Greeting

PARAGRAPH 1

Thank your friend for his/her last letter. Respond to a piece of news he she had in his/
her letter. Tell your friend your bad news

PARAGRAPH 2

Explain how you lost your job. Explain what the government's reasons were for
closing the yard (inflation made exports uncompetitive).

PARAGRAPH 3

Explain how you feel about losing your job. How is it affecting you and your family?
PARAGRAPH 4

Explain what you're planning to do (retrain / relocate?).

Sign off

Write 100-140 words
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Before you read

Discuss this question with your partner.

e What do you think makes an economy grow?

A Vocabulary

Choose the correct answer A, B or C from the list.
1. In many ways life for previous
2. Home has increased in many parts of Europe.

3. When the economy grows dangerously fast, we say it

was much more difficult.
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4. A iswhen the economy is growing quickly.

5. are fairground rides like trains that go up and down very fast.

6. intechnology in the last 30 years has been incredible.

7. is when you get better after something bad like an illness - or economic
depression.

8. Whenyou  you fight or work hard for something.

9. Don't buy anymore milk. We've got ___in the fridge.

10. A fortunate person is very

11. Mountain climbers are people who enjoy a

12. The __ isthe government minister responsible for the economy.
13.  growth is growth that can continue for a long time.

1 A people B generations C family

2 A ownership B having C belonging
3 A boils over B overheats C warms up

4 A bang B boom C balloon

5 A roller-coasters B big wheels C bumper cars
6 A growth B increase C progress

7 A discovery B recovery C slump

8 A overheat B recover C struggle
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9 A plenty B ashortage C none

10 A hard-working B rich C lucky

11 A challenge B race C boom

12 A economist B prime-minister C chancellor
13 A sustainable B sustained C sustaining
Reading 1

Economic growth

Many millions of people enjoy a quality of life today that previous generations
could not have dreamed of. Home ownership, private cars and holidays are now
standard for most families in industrialised countries. And yet at the same time,
billions of people in other countries live without oven clean drinking water. How can
this be? The answer is that the fortunate few live in countries with sustained
economic growth.

An economy is growing when the gross national product is increasing year after
year. When economists calculate economic growth, though, they must take into
account the effects of inflation. For example, imagine that the gross national product
of a country increased from $500 billion to $510 billion from one year to another.
That's an increase of two per cent in output. Very impressive! However, if the rate of
inflation was two per cent, then there has been no real growth at all.

The other thing to remember about economic growth is that not all growth is
good. Governments want steady, sustainable growth. Sudden, sharp increases in
growth - a boom - can cause the economy to overheat and fall into recession. For
many economies, the long run growth over many years is steady, but the short run is
a roller-coaster ride of boom and depression. For instance, the long run growth of the
UK economy since 1950 has been a steady 2.5% per year. However, if you look
closely at any decade you'll see that there is a cycle of growth, recession and

recovery. The truth is, steady growth in the short term is very hard to achieve.
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Nevertheless, many countries are still struggling to achieve any kind of growth
at all. Why is this? What is necessary for growth to happen? Many economists have
tried to find the answer to this question, and there are plenty of theories to choose
from. However, most economists agree that three things are essential for economic
growth to occur: capital growth, savings and technological progress.

Capital refers to the factories and machinery that the labour force uses to turn
raw materials into products. More workers and more raw materials will only lead to a
certain amount of growth. Eventually, the economy needs more capital for the labour
to use. Capital growth can also include training and education for the labour force.
This makes the workforce more efficient, creative and productive.

Of course, someone has to pay for the new machines and training. In other
words, capital growth needs investment. Money for investment needs to be borrowed
from banks. Banks can only lend if customers make savings. This is why savings are
so important for growth. However, the economy will not grow if everyone is saving
and no one is spending. Getting the right balance between consumption and saving is
another part of the challenge of economic growth.

But above all, technology is the real miracle worker of economic growth. An
advance in technology can increase productivity from the same amount of capital and

resources: just what the chancellor ordered!

B Comprehension
Now read the text again and choose the sentence which best summarises each
paragraph.
PARAGRAPH 1
A Economic growth does not happen everywhere.
B Economicc growth did not happen in the past.
C Economic growth happens only in industrialised countries.
PARAGRAPH 2
A GNP and economic growth are the same thing.
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B An increase in GNP always means the economy is growing.
C An increase in GNP may not show economic growth.
PARAGRAPH 3
A All growth is good.
B Fast growth is good.
C Steady growth is good.
PARAGRAPH 4
A The majority of economists believe three factors positively influence economic
growth.
B Economists are sure about what causes economic growth.
C Economists have no idea about what causes economic growth.
PARAGRAPH 5
A The economy needs more raw materials to grow.
B The economy needs more machines and factories in order to grow.
C The economy needs more labour to grow.
PARAGRAPH 6
A For economic growth there needs to be more spending and less saving.
B For economic growth there needs to be more saving and less spending.
C For economic growth there needs to be the right amount of saving and spending.
PARAGRAPH 7
A Technology creates more raw materials with less labour.
B Technology creates greater output from the same amount of capital, labour and
materials.
C Technology creates more labour with fewer raw materials.
Before you listen
Discuss these questions with your partner.
e What countries are sometimes called the East Asian Tigers. Do you know
why?
e Which of the things listed in C Listening helped the East Asian Tigers to grow?
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C Listening

Now listen and tick the things that helped the East Asian Tigers grow.
spending on education

cuts in welfare benefits lot unemployed

high rate of savings

high rate of local consumption

exports to richer countries

non democratic governments

democratic governments

good relations between management and workers

© 0O N o o1 B~ W DN -

strict management rule

Before you read
Discuss these questions with your partner.
Look at the chart which shows the business or trade- cycle. What do you understand

from the chart? What is happening to the economy at each stage?

The Business Cycle

National output

Time

D Vocabulary
Complete each sentence with a word or phrase from the box.

e bankrupt e current e lay off e pay off
e inevitable e debt e putup e shrink
e reasonable e secure e stages e turnover

1. Each month I put 100 euros into the bank to my loan.




120

2. If you feel about your job, you don't think there is a danger of
losing it.

3. In Britain if it's sunny in the morning, rain is later!

4. A company's Is how much money it spends and earns each year.
5. The price of oil is unbelievable.

6. Painting the body is one of the final of manufacturing a car.

7. prices are prices you think are fair.

8. If you wash some clothes m very hot water, they

9. The opposite of taking on staff is to staff.

10. If a company goes it cannot pay back the money it owes and it

must close down.

11. | have a large and | have to pay back a lot of money every month.

12. Farmers have their prices so the cost of fruit and vegetables

has increased.
Reading 2
The business cycle

In the long term, over many years, an economy will grow at a steady rate.
However, the climb up the hillside of economic growth is actually quite rocky. Long-
term growth is made up of many short-term steps. Each short-term step may last for
five or ten years. Over this short-term period the economy goes through a cycle of
growth and recession. This is called the trade or business cycle, and it has tour stages:
boom, slump, recession and recovery.

During a boom, everything is good. Demand for goods and services is high and
business is going well. To meet demand, companies need to take on more staff, so
unemployment is low. Confidence is in the air! Consumers feel confident about
spending because their jobs seem secure. What's more, interest rates are reasonable,
so people take out loans and use their credit cards. Low interest rates also encourage
companies to invest in new capital, and businesses grow. Governments arc happy too,

because tax revenues are increasing. However, the government has to be careful.
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Boom economies are always in danger of overheating. Demand-pull or cost-push
inflation will eventually bring the good times to an end.

When the slump comes, the economy continues to grow, but not so fast. Once
inflation starts to rise, confidence falls. The government have probably put up interest
rates to slow down borrowing. People with mortgages have to spend more money to
pay off their debt, so they have less to spend on other things. Higher interest rates
discourage business investment. Things are moving slowly, and people just hope that
the economy will improve again. But will it?

If the government have not acted quickly enough, its fiscal and monetary policy
changes may be too late. In this case, recession is inevitable. Some economists say a
recession exists when the current rate of growth falls below the long-term rate of
growth. Others say a recession is when there is no growth at all, and the economy
actually shrinks. Whatever it is, a recession is bad news. Companies have to reduce
costs because turnover is so low. The first thing they do is to lay off staff. If the
recession is very bad, some companies may even go bankrupt and close. When this
happens, thousands of workers may lose their jobs. As unemployment rises, the
government needs to spend more on providing unemployment benefit for those who
are out of work. In the worst recessions, these conditions can last for a number of
years.

Eventually, with good government policy and a demand for goods or services
from healthier economics abroad recovery will come. Slowly, confidence returns,

investment grows and the cycle begins again.

E Comprehension

Now read the text again and answer these questions in your own words.
e \What is economic growth like in the long run?
e What is economic growth like in the short run?
e Why are businesses and consumers confident during a boom?

e Why are mortgage repayments often higher during a slump?
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e How do companies try to save money during a recession?

e What can help an economy recover?

Before you listen

Discuss this question with your partner.

How does each stage of the business cycle affect ordinary people?

F Listening

Now listen to these people. What part of the business cycle are they in? Match the

people with the stage.

SPEAKER 1 ........ A boom
SPEAKER 2 ......... B slump
SPEAKER 3 ......... C recession
SPEAKER 4 ......... D recovery
G Speaking

Discuss these questions with your partner.
e s economic growth always good?
e What are the negative results of economic growth (eg. pollution, destruction of
environment)?
Task
Work in groups of three. Each of you should take one of the following roles.
STUDENT 1 the Chancellor
STUDENT 2 chief director of one of the country's largest industries
STUDENT 3 leader of a workers' union
Imagine that the economy has gone into a recession.
STUDENT 1 vyou're the Chancellor. Explain to the others why the country is in
recession and what you plan to do about it.
STUDENTS 2 and 3 should tell the Chancellor what problems the recession is
causing them. Tell the Chancellor what you want him/her to do.
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H Writing

Answer this essay question: 'Economic growth isn't always a good thing.' How far do
you agree with this opinion?

Essay on economic growth

Use this essay plan to help you.

PARAGRAPH 1

Introduction to the topic: What is economic growth and how does it occur?

Read text 1 again and make notes.

PARAGRAPH 2

What are the benefits of economic growth for a country?

standard of living, health care, education, employment

PARAGRAPH 3

What are the negative externalities of economic growth?

effects on the environment, traditional way of life, stress and family life, equity and
inequality

PARAGRAPH 4

In summary - sum up both sides of the argument in a sentence and say what your
view is.

Write 200-250 words
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UNIT 14
Before you read
Discuss this question with your partner.

Nearly all countries trade with each other. Why do you think this is?

A Vocabulary

Match the words and phrases with the definitions

1 balance of trade A the movement of something, like water in a river
2 imports B big variety
3 wide range C financial protection

4 trading partnerships D when you receive less money than you pay out

5 value for money E when something is worth the amount you pay for it

6 deficit F the difference between the total amount of exports and

7 insurance imports for a country in one year

8 flow G people, companies or countries that do business
together

H goods and services a country buys from abroad
Reading 1
The open economy

All through history, people from one society have been trading with people from
another. Three thousand years ago, for example, the Phoenicians of the
Mediterranean built an economy almost completely on foreign trade. In the jargon of
economics, the Phoenicians had an open economy, and almost every economy since
theirs has been open too.

When an economy is open, this basically means that it imports and exports
goods and services. What are the benefits of doing this? First of all, if you trade with
other economies, you can import goods that do not exist in your economy. These may
be products that your economy cannot manufacture, but they may also be raw

materials. With a wider range of raw materials, an economy is able to use its capital
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and labour to produce a wider range of products. In this way, importing can actually
help an economy grow. What's more, if you allow imports from other countries, then
you will have trailing partnerships. This means that you can export to countries. If
you have customers all over the world, your economy will grow faster.

Open economies are good for consumers, too. If the economy allows imports
from abroad, there will be a greater variety of goods available locally. When products
are available locally, imports of the same products should help to keep prices down
and quality high. This is because local companies will have to compete with foreign
companies, and more competition will mean better quality and greater value for
money.

Economists describe imports and exports of material products as visible -
because you can really see and touch them. Examples of visible exports and imports
are food stuffs, furniture and electronic equipment. However, there are also invisible
imports and exports. These are mainly services, but can include all sorts of things.
Examples of invisible exports and imports include banking services, insurance
products, educational courses and tourism.

Opening up economies, however, does bring problems. One of the main
difficulties is keeping a good balance of trade. Every time a country manages to sell a
product or service abroad, this means money will flow into the economy. One the
other hand, every time someone buys from abroad, money flows out of the country.
Over time, if the flow of money out of the economy is greater than the flow of money
into the economy, then there is a trade deficit. This is not a good situation to be in.
The challenge for governments is to keep the flow of trade equal in both directions,

or to achieve a trade surplus. This is when total exports are greater than total imports.

B Comprehension
Now read the text again and decide whether these statements are true or false. If
the statement is false, correct it.

1. Most economies in the world were closed until very recently.
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2. Open economies exchange exports and imports with each other.

3. Importing products will always make the local economy shrink.

4. Only the producer benefits from an open economy.

5. If you go abroad for a holiday, you create an invisible export for your country.
6. When exports earn more money than imports, there is a trade surplus for the

economy.

Before you listen

Try to complete this paragraph about autarchies by using words from the box.

e America e China e closed e invade

e empires e North Korea e resources o self-sufficient
An autarchy is another word for a completely (1) economy. An
autarchy does not have trading partners. It is (2) D. There are no
autarchies in the world today, although (3) Is almost an autarchy.
Autarchies don't exist because no economy has all the (4) it needs. In
the 19" century, (5) was an autarchy for about one year. (6)

was almost an autarchy in the 20th century. The only real

autarchies that have existed are (7) . They have tended to (8)

instead of trade!

C Listening

Now listen and check your answers.

Before you read

Discuss this question with your partner.

Can you name the currencies that these countries use?
e the USA e the UK e India
e Switzerland e Australia

e France e Japan
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D Vocabulary

Complete each sentence with a word or phrase from the box.

e currency e equilibrium point e euro e overseas
e swap e investors e ZOne e sterling
1. A Is the kind of money used in a country.

2. The currency used in Italy, Trance and Greece is the

3. Is another name for the UK's pounds and pence.

4. A IS an area.

5. Being means you are not in your own country.

6. If you're not satisfied with what you've bought, you can it for

something else.

7. are people or companies that lend money to companies in order

to make a profit.

8. The Is the price that sellers are happy to sell at and buyers are

happy to buy at.
Reading 2
Exchange rates

The UK has Sterling, the USA has dollars and Ukraine has the hryvna. Almost
every country has its own currency. Some countries in an economic zone share a
currency, for example thel3 European countries that share the euro, but this is quite
rare. If I live in a Eurozone country and | want to buy something from the UK, I must
buy it using UK sterling. To do this | need to exchange my euros for sterling. The
amount of sterling | can swap for each euro depends on the exchange rate.

For example, if the exchange rate is £1= €1.50 and the camera I want to buy is
worth £ 100, then to buy the camera | must spend 100x50= €150. Similarly, if
someone in the UK wants to buy something from a Eurozone country, they must
exchange their sterling for euros. If the computer they want to buy costs €500, then
they must spend 500 x 0.75 = £375.
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Most exchange rates, however, do not stay the same. They are changing all the
time. Imagine that a few days later the exchange rate changes to £1 =€1.45. This
would make the camera cheaper for me, but the computer more expensive for the
buyer in the UK. In other words, sterling has got weaker against the euro and the euro
has got stronger against sterling.

But what makes the exchange rate change? To understand this, just think of the
exchange rate as the price of the currency. Just like any other commodity, the price of
a currency is decided by supply and demand in the market. The rate set will be the
equilibrium point where supply and demand meet.

Where does demand for a currency come from? Let's take the euro, for example.
Exports from the Eurozone need to be paid for in euros. This means the buyers of
those exports need to buy euros to make their purchases. So the demand for euros
increases. Also, investors from outside the Eurozone may want to invest their money
there because they think they will make a profit. To do this, they must buy euros, and
again the demand for euros increases. The supply of euros on the international money
markets comes from people who want to sell euros. If people want to buy imports
from countries outside the Eurozone. or if they want to invest in countries outside the
Eurozone, they must sell their euros to buy other currencies. So the supply of euros
increases.

A change in the exchange rate of a currency can have a big impact on the
economy. For example, it can have a big impact on the economy's balance of
payments. As we saw in the example earlier, when a currency gets stronger, imports
become cheaper. But at the same time, exports to overseas customers get more
expensive. This will probably mean that more money will flow out of the economy

than in.

E Comprehension
Now read the text again and answer these questions in your own words.

e How many countries currently use the euro?
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e What must you do if you want to buy something from another country?

e How is the exchange rate between currencies set?

e What two things can make the demand for a currency increase?

e What happens to exports when a currency gets stronger?

Before you listen

Discuss the following with your partner.

A change in the exchange rate will make a currency stronger or weaker against other

currencies. How will this affect the rest of the economy? Try to put the effects under

the correct heading.
e economy grows
e economy shrinks
e exports fall
e exports grow
e imports are cheaper
¢ rate of inflation falls
¢ rate of inflation increases

e workers demand higher wages

Effects of strong currency

Effects of weak currency

G Speaking

Discuss these questions with your partner.

Do you think we could have one currency for the whole world? Why / Why not?

What would it be liketo live in a closed economy?
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Task
Give a two-minute talk about closed and open economies. First, read text 1 again and
the listening summary and make notes on the following.

e what is an open economy and what is a closed economy

e closed and open economies in history

¢ the advantages and the disadvantages of each type of economy

H Writing
Answer this essay question: 'What is the exchange rate and how does it affect the
economy?'
Essay about exchange rates
First, read text 2 again and the notes from the listening exercise and make notes. Use
tins essay plan to help you, and include those words and phrases:
Organising ideas: first of all, next, furthermore, in addition, in a number of ways
Describing cause and effect: as a result, consequently, this leads to. due to
PARAGRAPH 1

What are currencies?

How do countries trade with one another?
PARAGRAPH 2

What is the exchange rate?

How is the exchange rate set?
PARAGRAPH 3

What is the balance of payments?

How does the exchange rate affect imports and exports?
PARAGRAPH 4

What other effects does a change in the exchange rate have on the economy?
Write 200-250 words
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UNIT 15
Before you read
Discuss the following with your partner.
Do you remember how the exchange rate affects the rest of the economy? Tell your
partner what you remember about these things:
¢ the exchange rate and interest rates

¢ the exchange rate and the balance of trade

A Vocabulary

Match the words and phrases with the definitions.

1 exchange A unchanging mechanism

2 variations B different types of the same thing

3 floating C stay

4 fixed exchange rate D system for buying money

5 extreme E supplies

6 reserves F free

7 constant G stable currency price fixed by the government
8 remain H most absolute

9 peg | keep two currencies at same level

Reading 1

Exchange rate mechanisms
If you're planning it holiday abroad, one of the things you won't forget to do is to
buy some of the local currency. You'll probably visit a few banks to see which one
offers the best exchange rate. But holiday makers aren't the only ones w ho are
interested in exchange rates. Governments are watching them all the time. This is
because a change in the exchange rate of the national currency can affect the whole
economy. Interest rates, balance of payments and economic growth will all feel the

effects of a change in exchange rates.
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But can governments do anything about exchange rates apart from watch them?
Well, yes, they can. They can use something called exchange rate mechanisms. These
are ways to control the value of the national currency against other currencies. There
are different types of mechanism, but they are all variations on two extreme
mechanisms free floating exchange rate and fully fixed exchange rate.

When a currency's exchange rate is free floating, the government doesn't try to
control the price of the currency. Remember that, just like any other price, the
exchange rate changes when demand and supply change. When governments allow
the currency to be free floating, they are saying, 'let the market decide the price of our
currency'. In contrast, a fully fixed exchange rate is strictly controlled by the
government. For example, the UK government might decide that they want sterling to
remain at a constant exchange rate against the euro of £1= €1.50. This is sometimes
called pegging. In this example, sterling is pegged against the euro at that rate,
although in actual fact sterling is a free floating currency.

However, there is a problem. If demand on the money market rises for sterling,
then the exchange rate will rise also. How can the government maintain the exchange
rate they want? The only way is to change the level of supply of sterling on the
money market. The government can increase the amount of sterling on the
international market by selling it. This means they buy foreign currencies and sell
sterling. Alternatively, if they want to increase demand for sterling, the government
needs to reduce the supply on the money market. To do this, they sell their reserves
of foreign currencies and buy sterling. This way, they keep the exchange rate (the
price) of sterling at a constant rate.

So which system is best - fixed or floating? It depends on lots of things. Each
system has its benefits and drawbacks. A free floating mechanism often makes it
easier to keep a steady- balance of payments. Also, the government can make any
changes it wants to interest rates without worrying about the exchange rate (the
market looks after that). On the other hand, a fixed rate mechanism makes industry

feel more secure. They know what the value of their exports will be, and so they can
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plan for the future more easily. This is good for the local economy and for

international trade.

B Comprehension

Now read the text again and then read the descriptions below. Which mechanism is

being described?

1.

The government chooses a target rate for the currency.
A fixed exchange rate
B floating exchange rate

C both fixed and floating mechanisms

. The government accepts the market value of the currency.

A fixed exchange rate
B floating exchange rate

C both fixed and floating mechanisms

. Supply and demand on the currency market affect the exchange rate.

A fixed exchange rate
B floating exchange rate

C both fixed and floating mechanisms

. The government does not attempt to change the rate.

A fixed exchange rate
B floating exchange rate
C both fixed and floating mechanisms

. The government needs reserves of foreign currency.

A fixed exchange rate
B floating exchange rate

C both fixed and floating mechanisms

. There are advantages and disadvantages.

A fixed exchange rate

B floating exchange rate
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C both fixed and floating mechanisms

Before you listen

Discuss the following with your partner.

You're going to hear someone talking about the foreign exchange market. As you
listen, you'll make some notes about what you hear. First, read through the headings.

Do you know any of the answers?

Other names: (1) (2
Main trading centres: (3) 4)D (5)
Most traded currencies: (6) (7 (8)

Amount traded daily: (9)
Trading hours: (10)
Main traders: (11) (12) (13)
(14)

C Listening

Now listen and complete the notes.

Before you read
Discuss the following with your partner.
Do you remember these ideas from earlier units? Tell your partner what you know
about these things:
e opportunity cost
e economic welfare
¢ the benefits of an open economy
D Vocabulary
Complete each sentence with a word from the box.

e comparative e exploit e incentive o tariffs

e specialises e restrict e stimulate e (uota
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1. All countries try to the natural resources that they have.

2. are a kind of tax that the government puts on imported goods.
3. Lew interest rates can help to the economy and make it grow.
4. Arise in salary is an to make people work harder.

5. The UK economy In services such as banking and insurance.

. Governments sometimes need to the flow of imports and exports.

6
7. The opposite of absolute is
8

. They have a which must be fulfilled if they want to keep the contract.

Reading 2
International trade

There are plenty of incentives for a country to have an open economy. Exports
increase the size of the market for producers. Imports stimulate competition in local
markets and provide a wider choice for consumers. These are good reasons for
international trade. However, another important reason for trading is to exploit
advantages. Economists talk about two types of advantage that an economy can have
over others: absolute advantage and comparative advantage.

An economy has absolute advantage when n can produce goods at a lower cost
than other economics can, or they have resources that others don't have. For example,
warm Mediterranean countries have an absolute advantage in the production of olive
oil. Many countries in Asia have an absolute advantage in manufacturing electronic
goods. Clearly, it makes sense for countries with absolute advantages to trade with
each other.

The second kind of advantage is comparative advantage. This happens when an
economy can produce something at a lower opportunity cost than other economies
can. Remember that the opportunity cost of something is what you have to give up in
order to have it. For example, imagine that country A makes two things with its
resources: clothes and furniture. If it wants to increase production of clothes, it must

decrease its production of furniture. This loss is the opportunity cost. Now imagine
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that country B also makes clothes and furniture, but it makes less of both than
country A. In other words, country A has an absolute advantage over country B in
clothes and furniture. However, country B can increase its production of clothes with
only a small opportunity cost in furniture. This means that country B has a
comparative advantage over country A in the production of clothes.

But why would country A want to trade with country B? What benefit would
they gain? In fact, both countries can benefit by specialising. If country A produces
only furniture, and country’ R produces only clothes, both countries will be making
best use of their available resources. By trading in this way, production of both
products increases. In turn, this increases the economic welfare of both countries.

Despite all the advantages of having an open economy, countries sometimes
restrict trade with other countries. For example, governments may charge tariffs on
imports. These are taxes which make imports more expensive than locally produced
products. Governments may also restrict the amount of imports entering the country.
This kind of restriction is called an import quota. Since international trade has so
many benefits, why would countries want to restrict trade in this way? There must be

some very good reasons!

E Comprehension

Now read the text again and decide whether these statements are true or false. If
the statement is false, correct it.

1. Imports can be good for an economy.

2. A country's natural resources can give it an absolute advantage over other
countries.

3. A country with an absolute advantage will always have a comparative advantage,

too.

4. A small economy can have a comparative advantage over a larger economy.
5. Specialising in one area of trade will give a country a comparative advantage.

6. Tariffs and quotas are used in order to increase imports into the economy.
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Before you listen
Discuss this question with your partner.
Why do you think governments sometimes use tariffs and quotas to restrict free trade

with other countries?

F Listening
You're going to listen to four people talking about trade restrictions. Match the
speakers with the reasons for restricting trade. There is one extra reason that the

speakers do not mention.

SPEAKER1  Ato stop imports of dangerous goods

SPEAKER2 B to protect local jobs

SPEAKER3 ___ Cto punish other countries who use restrictions

SPEAKER4 D to stop the local market being flooded with cheap
imports

E to let new local industries grow

G Speaking
Discuss these questions with your partner.
e Are trade restrictions a good thing or a bad thing m your opinion? Why?
e Do you know whether your country uses tariffs or quotas on imports?
e Do you think any country has a completely open economy?
Task
Give a two-minute talk on exchange rate mechanisms. First, read text 1 again and
make notes below on the following.
e What is an exchange rate?
e What is a fixed exchange rate - how does the government keep it fixed?
e What is a floating exchange rate?

e \What are the advantages of each system?
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H Writing
Answer this essay question: ‘Describe the trade partnerships that your country has
with other nations.’
First, do some research and find out what and how your country trades with others.
Then use this plan to organise your answer.
Essay about international trade
INTRODUCTION
Explain that you are going to write about your government's trade partnerships
nowadays.
Mention that historically these partnerships haven't always been the same.
PARAGRAPH 1
What absolute advantages does your country have (natural resources or strong
industries)?
What are the main exports from your country (goods arid services)?
Which countries do they go to?
How does this affect your country's international trading?
PARAGRAPH 2
What are the main imports into your country, and where are they from?
Why are these imported?
Do other countries have an absolute or comparative advantage in these goods?
PARAGRAPH 3
Are there any barriers to trade?
If there are, why do they exist?
CONCLUSION
Sum up your country's international trading partnerships in two sentences.
Write 200-250 words

Before you read

Discuss these questions with your partner.
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Why do you think some economies are less developed than others?

| Vocabulary

Choose the correct word.

1. Many African countries were nations / colonies of European countries until the
20th century.

2. If your debt is stopped / cancelled, you don't need to pay the money back.

3. A privileged / reluctant person is able to have things that others cannot have.

4. Political stability / instability happens when a country's political system does not
work properly.

5. A grant / loan is money given to someone (or a country) without them having to
pay it back.

6. If you are reluctant / willing to do something, you don't really want to do it.

7. Another word for help is aid / hamper.

8. When something aids / hampers you, it stops you from doing what you want to do.
9. Capital/ Primary goods are goods which are used in order to produce other goods,
or things which can lie consumed without being processed.

10. Mature / Reluctant means hilly developed.

11. Capital/ Primary goods are the factories and machinery that an economy needs in
order to produce other goods.

12. Human aid / capital is the educational level and the health of the working

population.

Reading 3
Less developed countries
What do we mean when we say a country is developed? The Tinted Nations
uses three measures: life expectancy, education and real individual income. If we use
these measures to describe the world, we quickly understand that only a privileged

few live in developed countries. Poverty, for instance, causes the deaths of about
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30,000 children every day. Over billion people cannot read or write. Half the world
earns less than $2 a day. Clearly, most of the world's population live in less
developed countries. But why is development so difficult for these nations'?

There are many reasons. Some countries lack the raw materials and capital
needed for growth. Others regularly suffer from natural disasters such as droughts
and floods. Diseases such as cholera and AIDS are widespread in many less
developed countries. This causes suffering to millions of individuals and families, but
it is also disastrous for the economies of these nations. Lack of education also holds
back development. This may be because governments cannot afford to provide
schools and colleges. However, millions of families in these nations are caught in a
poverty trap. This prevents their children from getting a basic education even when it
Is available. Without quality human capital, these economics cannot grow.

Political insecurity is another reason for underdevelopment. Many of these
countries belonged to colonies in the past. When the foreign powers finally left, these
countries often fell into years of political instability and war. Even when peace comes
to these countries, political corruption makes development difficult as there is still a
climate of political instability. Foreign companies do not want to invest in a country
which suffers from corruption. Similarly, foreign governments are reluctant to give
aid when they see that their money is spent badly or simply disappears.

All of these problems make it very difficult for less developed countries to
improve their economics. However, there are other more complex issues which
hamper development. The first of these is debt. The second is unfair trading. Many
people believe that these two problems are the cause of all the other problems that
developing countries face.

Many of the world's poorest countries arc trapped in a cycle of debt. This is
because they need to borrow money in order to pay the interest on debts they already
have. The poorest 60 countries owe many hundreds of billions of dollars. However,
they spend more money paying off debts than they receive in aid. Unless these debts

are cancelled, these countries will never escape the cycle.
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After years of slow development, it is hard for poorer countries to compete with
developed countries for international trade. Without mature industries of their own,
they must rely on exports of primary goods. These primary goods do not earn as
much money as the products that developed countries export. What's more, because
poor countries rely on grants from rich countries, they are often forced to spend the
money on manufactured imports. This means they cannot buy the things they really

need: capital goods to help their economies grow.

J Comprehension
Now read the text again and choose the best answer A, B or C to complete each
sentence.
1. The majority of people in the world live ...
A in developed countries.
B in less developed countries.
C on loss than a dollar a day.
2. Natural disasters and disease
A happen more often in less developed countries.
B are worse in less developed countries
C have a serious impact on the economy of less developed countries.
3. Children often can't get an education because ...
A there's not enough human capital.
B governments don't wish to provide it
C their families are poor.
4. Political instability...
A prevents investment
B causes war.
C causes corruption.
5. The poorest 60 countries ...

A receive many hundreds of billions of dollars in aid annually.
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B receive less money in aid than they spend on repayments.
C spend less money on repayments than they receive in aid.
6. Less developed countries are not able to spend enough money on ...
A primary goods.
B capital goods.
C imported goods.

Before you listen
Discuss this question with your partner.
Less developed countries have received aid (loans and grants) for decades. However,

their economies have not grown. Why do you think this is?

K Listening

Listen to someone talking about this problem. They mention four reasons why aid
often doesn't help. What reasons are mentioned? As you listen, make notes about
each reason.

1

2
3
4

L Speaking
Discuss these questions with your partner.
e Are grants or loans the best way to help less developed countries grow?
e Apart from giving grants or loans, hoe can developed countries help less

developed countries?

Task
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Give a two-minute talk on less developed nations saying why they haven't developed
quickly. First, read text 3 again and your answers for the listening exercise. Make
notes about the following.

e the causes of underdevelopment

e why many countries have so much debt

e why aid doesn't always help

e what these countries need in order to develop
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Before you read

Discuss these questions with your partner.

What recent changes in Ukrainian life can you mention?

A Vocabulary

Match the words and phrases with the definitions

expatriate
consumer goods
state run
hardship

reform

severe

subsidy

crumbling

© 00 N o o B~ W N P

staple goods
10 fixed incomes
11 to balloon

12 hyperinflation
13 enviable

14 stabilise

Reading 1

Contemporary Ukraine: the fall and rise of the market economy

A very high inflation

B financial help from the government for a business
C change

D something that other people want

E managed by the government

F very strict or cruel

G basic things like food that everyone needs

H to grow very big very quickly

| things that people buy but don't really need

J falling apart or collapsing

K very difficult times poverty
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L someone who lives and works away from their home country

M salaries or pensions that do not grow with inflation

N become steady, unchanging

A recent survey compared the cost of living for expatriates in cities around the

world. Not surprisingly, the top ten most expensive cities included Tokyo, London

and New York. But more expensive than any of these was . . Kyiv! Less than two

decades ago, Kyiv was the heart of the nation's biggest planned economy. There was

no property for sale back then. The state-run shops had few consumer goods.
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Shortages for simple things like shoes were common. Today, things could not be
more different. Kyiv is the centre of a free market with some of the highest property
prices in the world. The state-run shops have been replaced by expensive shopping
centres and designer stores. But the change has not been easy.

The figures for Ukraine's real gross domestic product since 1991 when the
economic reforms began, show that the economy has been on quite a roller-coaster
ride. In 1991 GDP was over $350 billion. That fell dramatically year after year until
1998, when GDP was just over $220 billion. However, the situation improved again
from '98. In fact, Ukraine's GDP increased steadily year after year from 1999 until
2006 when it reached around $740 billion. What caused such a change of fortunes?

Changing over to a completely different economic system could never be
painless. The Ukrainian government of the early 1990s decided to use a shock
therapy approach. They introduced severe fiscal and monetary policies. The
government drastically reduced its spending. It cut subsidies to its crumbling state
industries. Interest rates and taxes were raised. Government price controls on nearly
all consumer goods were lifted. Only prices for staple goods like food and energy
remained controlled by the government. New laws were introduced to allow private
ownership and businesses to exist.

All of these measures were intended to create conditions for a market economy
to grow. However, they also caused great hardship for ordinary people. Most workers
at that time were on fixed incomes. The measures caused the cost of living to rise, but
their salaries did not rise at the same rate, to make matters worse, events in the
banking system in 1992 caused the money supply to balloon. This resulted in
hyperinflation levels of 2,000%. Despite Ukraine's enormous reserves, the economy
went into a long and difficult depression.

However, from 1999, Inflation began to fall and the value of the hryvna
stabilised. The economy was recovering. GDP grew steadily year after year, and

foreign investors began to show confidence in investing in the country.
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B Comprehension

Now read the text again and match each paragraph with the correct heading.

PARAGRAPH1 A Recovery
PARAGRAPH?2 B Drastic measures
PARAGRAPH3 C Ups and downs
PARAGRAPH4 D Hard times
PARAGRAPHS5 E Then and now

Before you listen
Discuss this question with your partner.
Has everyone benefited from the changes in the Ukrainian economy in recent years?

Think about who is better off and who is poorer.

C Listening
You're going to hear three people expressing their views on the winners and losers in

the Ukrainian economic reforms. As you listen, make notes in the table.

Winners Losers

People

Industries

Places

Before you read
Discuss these questions with your partner.
e What do you think are Ukraine's main exports and imports?
e Where do you suppose most goods that you buy in Ukrainian shops these days
are made?
e Do you have any idea which is Ukraine's strongest industry today?
D Vocabulary

Complete each sentence with a word or phrase from the box.
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e arms e broke ties with e infrastructure
e oOpento e domestic consumption e Socialist Bloc
e run down o fall back on e the future holds
e turnover e privileged elite
1. Factories become If management don't look after buildings

and invest in new equipment.

2. Nobody really knows what but you should make plans anyway.

3. Marty countries make lots of money selling like tanks and guns

to foreign armies.

4. In the West, the communist countries of the USSR were called the

5. When he left the company, he all his old colleagues.
6. It's good to have some savings to during hard times.
7. The company was very my proposal for a new range of products.

8. Most of the wealth in modern industrial countries is owned by a small

9. Products for are only sold in the country where they are made.

10. The means the roads, railways, power and communication

networks that industry needs.

11. The of our new products has been very high and we have

gained a good income from them

Reading 2
Ukraine's foreign trade
Through most of the 20" century, Ukraine's trade with the outside world was
mostly limited to trade with other members of the Socialist Bloc. It was self-
sufficient in energy resources and primary goods. Its manufacturing industry was for
domestic consumption only. Foreign consumer goods simply didn't exist. Investment
from abroad was not encouraged because the government wanted full control of

production and prices. But things have changed.
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The Ukraine of the 21st century is much more open to business with the rest of
the world. In the first six months of 2005 its total international trade turnover was
worth about $1 50 billion. Both exports and imports have grown in recent years. In
fact, energy resources make up over two thirds of exports. The growing price of
these commodities on world markets has brought huge amounts of foreign currency
into the Russian economy. Metals are also important for the Ukrainian economy.
Other primary goods such as timber, minerals and agricultural products are also
important.

Tin value of trade isn't the only thing that has changed. There have been changes
in Ukraine's trading partnerships, too. In the old Soviet days, and even in the years
that followed the fall of communism, Ukraine's main trading partners were other
communist countries that used to be known as the COMECON (Council for Mutual
Economic Assistance) countries. In the early 1990s, for example, Ukraine still had
trade agreements to export energy resources to many former Soviet republics.
However, many of these countries found it difficult to pay and exports fell. At the
same time, trade with other parts of the world, especially the European Union began
to grow. Communist ties have not all been broken, though. One of Ukraine's most
important trading partners is China.

But what does the future hold for the economy? The danger for Ukraine is that it
relies very heavily on imports of oil. Prices for these commodities can change
suddenly on the world markets. What does Ukraine have to fall back on? At the
moment, not very much. Many economists believe that Ukraine must spend its
exports money on investing in capital and infrastructure for industry. Doing this will
encourage foreign investment and further economic growth. In turn, this will help to

spread the benefits of growth to everyone in Ukraine, not just a privileged elite.

E Comprehension
Now read the text again and decide whether these statements are true or false. If

the statement is false, correct it.
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1. During the Soviet times, Ukraine did not trade with other nations.

2. The value of exports is growing faster than the value of imports.

3. Metals are Ukraine's largest export.

4. Many of Ukraine's old trading partners cannot afford its prices any more.

5. Ukraine no longer trades with communist nations.

6. Economists believe that Ukraine needs to invest more in its manufacturing

industries.

F Speaking

¢ Discuss these questions with your partner.

e How have the economic changes in Ukraine affected you and your family?

e Do you think life in Ukraine is better or worse than it was five years ago?

e Are you optimistic about the future?
Task
Plan the Russian economy
Work in groups of three or four. Work together to make a plan for the economy. Your
goal is to achieve steady growth, full employment and low inflation in five years
from now! When you have your plan, take turns to present it to the rest of the class.
Your plan should include the following:

e fiscal and monetary policy education policy

¢ social policy — health care, pensions and transfer payments

¢ industrial policy — for example, what industries you will promote

e foreign trade policy

e environmental policy — how you will avoid negative externalities

G Writing
Imagine it is 2030.Where will you be? What will you be doing? What will the
Ukrainian economy be like? Write an informal letter to a foreign friend who has not

visited Ukraine for many years.
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Letter from the future
INTRODUCTION
PARAGRAPH 1

Thank your friend for their last letter and respond to the news they told you.
PARAGRAPH 2

Tell them your latest news:

What job are you doing?

Where in Ukraine are you living now?

Have you got a family?
PARAGRAPH 3

Describe how the Ukrainian economy has got worse since 2016.
PARAGRAPH 4

Describe how the Ukrainian economy has improved since 2016.
PARAGRAPH 5

Say what your plans are.
Sign off
Write 200-250 words
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